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5ELIB .,RJ?BOP

3PB QEB *>KDR>DB LC IDB?0>
#S>IR>QB_1FIMIBRA D>KPI>QB #UMOBPPFLKP
AA >KA 1R?Q0>@Q 'KQBDBOP
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4 FPR>IFWB $0>@QFLKP

AA >KA 1R?Q0>@Q $0>@QFLKP
"B@FJ>IP

'KQOLAR@QFLK QL QEB 0B>| ,RJ?BOP
.OLMBOQFBP LC 0B>I .RJ?BOP
IE>MQBO 0BSFBT

I )%685)0)17 )5-0)7)5 5)% %1(#/80)

1VPQOBJP LC +B>PROBJBKQ

3PB .OLMBOQFBP LC 0B@@KINBHBR >®BAMBWILFAP

1LISB %BLIJBQOV MMIF@>QHREP KA 1IROC>@B OB>

1LISB %BLIJBQOV _MMIF@>QFLKP FO@IBP >KA 'OOBDRI>O $FDROBP
I[E>MQBO 0BSFBT

I %7-2 523257-21 %1( )5717

0>QFLP >KA 0>0B

3KABOPQ>KA .BO@BKQ

1LISB .OLMLOQFLKP >KA QEBFO MMIF@>QFLKP
1LISB %BKBO>I MMIF@>QFLKP LC .BO@BKQ
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'KQOLAR@QFLK
1LISB #NR>QFLKP 3PFKD QEB 1R?QO>@QFLK >KA AAFQFLK .OLMBOQFBP LC #NR>IFQV

1LISB #NR>QFLKP 3PFKD QEB "FSFPFLK >KA +RIQEMIF@>QFLK .OLMBOQFBP LC #NR>IFQV
1LISB #NR>QFLKP TEQEA?IBP >KA ILKPQ>KQP LK | QE 1FABP

1LISB #NR>QFLKP TFQE $0>@QFLK LO 'BaBBKQBC
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IE>MQBO 0BSFBT
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3PB QEB 0B@Q>KDRI>O ILLOAFK>QB 1VPQBJ

%O>ME *FKB>0 #NR>QFILKR FRZ>?IBP

%O>ME TFQE 'KQBO@BMQP

3KABOPQ>KA 1ILMB LC > *FKB

3PB QEB 1ILMBe'KQBO@BMQ $LOJ LC >K #NR>QFLK LC > *FKB
$FKA QEB #NR>QFLK LC > *FKB

IE>MQBO 0BSFBT
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3PB +RIQEMIF@>QFLK .OLMBOQFBP LC #UMLKBKQP
3PB /RLQFBKQ .OLMBOQV LC #UMLKBKQP

'KQBDBO #UMLKBKQP >KA 1@FBKQFCF@ ,LQ>QFLK
1FIMIFCV >KA 3PB 1NR>OB OLLQP

1FIMIFCV 1INR>OB OLLQP

IE>MQBO 0BSFBT
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$>@QLO /R>A0>QFIR 2F>IP TFQE *B>AFKIF @BBKQ
"ESFAB .LIVKLJF>IP
IE>MQBO OBSFBT

1 5-+2120)75<
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IE>MQBO 0BSFBT
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"@PA/@;>E 831.>?V 'W>?BI> +>WRO T>P CRKABA ?V '@>JMRP -MBK #AR@>QFLK

|@>JMRP -MBK #AR@>PBDKK FK  >P QEB ! -MBBRIQ?LLH .OLGB@Q TFQE QEB DL>I LC J>HF
MLPQ PB@LKA>0V BAR@>QFLK FK OFQFPE ILIRJ?F> JLOB >@@BPPF?IB ?V OBAR@FKD PQR.
LC LMBK QBUQ?LLHP >KA LQEBSIMBFPRMMLOQP QEB MLPQ PB@LKA>0V FKPQFQRQFLKP LC
>P QEBV >A>MQ >KA BSLISB QEBFO QB>@EFKD >KA IB>OKFKD MO>@QF@BP QL BK>?IB MLTE
CLO QEB PQRABKQP LC ! !@>JMRP -MBK #AR@>QFLK FFFORREBARY?GEBFKFPQOV LC
AS>K@BA #AR@>QFLK >K/OHFRIFXRA QEBTIBQQ $LRKA>QFLK

“MBK BAR@>QFLK>I OBPLRO@BP -#0 >OB QB>@EFKD IB>OKFKD >KA OBPB>0O@E OBPLRO@
MBOJFPPFLKP DO>KQBA ?V QEB @LMVOANFEBOEHARMRPB AFPQOF?RQB HBBM LO J>HB @E>
QEBJ -RO LMBK QBUQ?LLHP >0B LMBKIV |F @EPESRHAEKDKP IF@BK&BOBIRDBA FK
S>OFLRP B ?LLH CLOJ>QP COBBLT@®@E4OFKQBA ?LLHP QE>Q >0B >S>FI>?IB >Q @LPQ

$LO JLOB FKCLOJ>QFLK >?LRQ LMBK BAR@>QFLK FK OFQFPE !LIRG@2EMRIBMEKSFPFQ QEB
#AR@>QFBRPFQB 'C VLR >0OB >K FKPQOR@QLO TEL FP RPFKD QEFP ?LLH CLO > @LROPB M|
ALMQFLK LC >K -MBHQ?LIG1OJ
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2EFP QBUQ?LLH FP >S>FI>?IB FK QEB CLIILTFKD CLOJ>QP

] Online webbook 7LR @>K OB>A QEFP QBUQ?LLH LKIFKB LK > @LIJMRQBO LO JL?FIB AB:
QEB CLIILTFKD ?0OLTPBOP !EOLJB $FOBCLU #ADB >KA 1>C>OF

] PDF 7LR @>K ALTKIL>A QEFP ?LLH >P > ."$ QL OB>A LK > @LIMRQBO "FDFQ>|."$ LOI
.OFKQ ."$

] Mobile 'C VLR T>KQ QL OB>A QEFP QBUQ?LLH LK VLRO MELKB LO Q>?IBQ VLR @>K RI
BOB>ABO LO +-' )FKAIB CFIBP

] HTML K &2+* CFIB @>K ?B LMBKBA FK > ?@QLEPBGBOV IFQQIB PQVIB QULEG AEPK|
KF@B ?RQ PLJB MBLMIB JFDEQ CFKA FQ RPBCRI

7LR @>K >@@BPP QEB LKIFKB TB??LLH >KA ALTKIL>A >KV LC QEB CIaDIAQR.SE BEORB EBOB
2L ALTKIL>A QEB ?LLH FICB@BRQ CLOJ>Q ILLH CLO QEB g"LTKIL>A QEFP ?LLHh AOLM ALTK JB
PBIB@Q QEB CFIB QVMB VLR T>KQ

How can | use the diffeent formats?

Internet

Format required? Device Required apps

KIFKB TB27LLH 7BP i\hél\lfl}?égBQﬂlBQ 1K> '(};SOBFOKBQ ?0LTPBO !EOLJB $FOBCLU #ADB
% L ILIMRQB®IOFKQ @leﬁ« ’;?(8%20\80 CLO OB>AFKD LK > @LIMRQBO L
f_s >KA L :\h%’{'ESBQ>?|BQ JFKAIB >MM +-' LO BOB>ABO >MM #.3

8&2+* L ILIMRQBQ>?1BQ K'KQBOKBQ ?OLTPBO !'EOLJB $FOBCLU #ADB

MELKB 1>C>0F

/69 ,58 #9/4-"./9" +>:(551

] Search the textbook

r 'C RPFKD QEB LKIFKB TB??LLH VLR @>K RPB QEB PB>0@E ?>0 FK QEB QLM ¢
PB>O@E QEB BKQFOB ?LLH CLO > HBV TIL PBACQESPNEB @ FC & EREMEAQBO
@E>MQBO >KA RPB VLR® PE:TRBDCB>QROB [BNEFQMFKOVLRO
HBV?L>0A FC RPARDAL BP @LIMRQBOrh@and] + [f] FC RPFKD > +>@ @LIJMRQB

r 2EB[Cntr] + [f] >KACommand] + [f] HBVP TFIl >IPL >IILT VLR QL PB>O@E > ."$
&2+* #.3 >KA +-' CFIBP FC VLR >0B OB>AFKD QEBJ LK > @LIJMRQBO


https://opentextbc.ca/introalgebra/
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r 'C RPFKD >K B LLH >MM QL OB>A QEFP QBUQ?LLH QEB >MM PELRIA E>SB > ?RF
] Navigate the textbook

r 2EFP QBUQ?LLH E>P > Q>?IB LC @LKQBKQP QL EBIM VLR K>SFD>QEQEOLRDE (
RPFKD QEB LKIFKB TB??LLH VLR @>K CFKA QEB CRII Q>?IB LCRBLKQBKQP LK G
ELIJBM>DB LO ?V PBIB@QFKD g!LKQBKQPh COLJ QEB QLM JBKR TEBK VLR >OB F

] Annotate the textbook

r 'C VLR IFHB QL EFDEIFDEQ LO TOFQB LK VLRO QBUQ?LLHP VLR @>K AL QE>Q ?

@LMRPFKD QEB "FDFQ>I ."$ FK AL?B @B>RBEKD QEB EFDEIFDEQFKD QLLIP FK
BOB>ABO >MMP
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IDB?0> E>P > I>KDR>DB LC FQP LTK 2EB MF@QROB PELTP GRPQ PLJB LC QEB TLOAP VLR J>
PQRAV LC >IDB?0>

7LR J>V KLQ OB>IFWB FQ ?RQ VLR >I0B>AV RPB >IBBEZEONMBSBBA\CABNROB LRQ ELT JR@E QL Q
PBOSBO FK > OBPQ>RO>KQ +>V?B VLR @>I@RI>QB QEB >JLRKQ LC @E>KDB VLR PELRIA DB(
PLIBQEFKD 'Q @LRIA BSBK ?B TEBK VLR @LJM>0B ?>QQFKD >SBO>DBP LR\@RK ABSQOH)B
QEB >IDB?0> VLR RPB FK PMB@FCF@ TLOAP >KA CLIILT >K LOABOI\WMOLEIERVK QE EFE=RE:
TLOAP RPBA QL ABP@OF?B >IDB?0> >KA PQ>0Q LK VLRO M>QE QL PLISFRDQHBC @+ MOL
>KA FK VLRO BSBOVA>V IFCB
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*B>0OKFKD -?GB@QFSBP

V QEB BKA LC QEFP PB@QFLK VLR TFII ?B >?IB QL

] 3PB MI>@B S>IRB TFQE TELIB KRJ?BOP
] 'ABKQFCV JRIQFMIBP >KA >KA >MMIV AFSFPF?FIFQV QBPQP
] $FKA MOFJB C>@QLOFW>QFLK >KA IB>PQ @LJILK JRIQFMIBP

J

P TB ?BDFK LRO PQRAV LC FKQBOJBAF>QB >IDB?0O> TB KBBA QL OBCOBPE PLJB PERRO PHF
@E>MQBO >KA QEB KBUQ TFIl CL@RP LK TELIB KRJ?BOP FKQBDBOP CO>@QFLKB TABI@FJ>IF
>|PL ?BDFK LRO RPB LC >IDB?0>F@ KLQ>QFLK >KA SL@>?RI>0V

#9+ 20+ $ '2;+ =/:. %.52+ ;3(+89

2EB JLPQ ?>PF@ KRJ?BOP RPBA FK >IDB?0> >0B QEB KRJ?BOP TB RPB QL @LRKQ L?GB@QP
>KA PL LK 2EBPB >0B @>IIBA QEB @LRKQRKDKRDBRI?BOP >0OB >IPL@H=1BAA9.1>7C
TB >AA WBOL QL QEB @LRKQFKD KRJ?BOP TB DBQ QEBsPBQ LC TELIB KRJ?BO

ILRKQFKD ,RJ?BOP d
5ELIB ,RJ?BOP d
2EB KLQ>QFLK gdh FP @>IIBA BIIFMPFP >KA JB>KP g>KA PL LK h LO QE>Q QEB M>QQBOK @LK

5 B @>K SFPR>IFWB @LRKQFKD KRJ?BOP >KA TELIB KRJ?BOP L$EDRRB?BO IFKB 1BB

2EB KRJ?BOP LK QEB KRJ?BO IFRBOBR GEBV DL COLJ IBCQ QL OFDEQ >KA PJ>IIBO >P QEBV |
QL IBCQ 5EFIB QEFP KRJ?BO IFKB PELTP LKIV QEB TELIB KRJ?BOP QEOLRDE QEB KRJ?BOF
TFQELRQ BKA

53A4

-ROKRJ?BO PVP@BJI@>IIBA > MI>@B S>IRB PVPQBJ ?B@>RPB QEB S>IRB LC > AFDFQ ABMBKA
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KRJ?BGFDRORELTP QEB>@B S>IREB MI>@B S>IRBP >0B PBM>0>QBA FKQL DOLRMP LC QEOBE
@>IIBA MBOFLAP 2EB MBAFLAMAOB:0? 95885;:? .5885;:? @>5885FPL LK 'K > TOFQQBK
KRJ?BG@LJJ>P PBM>0>0QB QEB MBOFLAP

2EB KRJ?BO FP PELTK FK QEB @E>0Q 2EB AFDFQ FP FK QEB JFIIFLKP MI>@B 2EB AFDFQ
ERKAOBA QELRP>KAP MI>@B 2EB AFDFQ FP FK QEB QBK QELRP>KAP MI>@B 2EB AFDFQ FP [
2EB AFDFQ FP FK QEB ERKAOBAP MI>@B 2EB AFDFQ FP FK QEB QBKP MI>@B 2EB AFDFQ FP

53A%
'K QEB KRJ?BO CFKA QEB MI>@B S>IRB LC B>@E AFDFQ
>
?
@
A
B
Solution

1>@B QEB KRJ?BO FK QEB MI>@B S>IRB @E>0Q
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> 2EB FP FK QEB QELRP>KAP MI>@B

? 2EB FP FK QEB QBK QELRP>KAP MI>@B
@ 2EB FP FK QEB QBKP MI>@B

A 2EB FP FK QEB QBK JFIIFLKP MI>@B

B 2EB FP FK QEB JFIIFLKP MI>@B

$LO QEB KRJ?BO CFKA QEB MI>@B S>IRB LC B>@E AFDFQ
> ? @ A B

1ELT >KPTBO
> QBK JFIIFLKP ? QBKP @ ERKAOBA QELRP>KAP A JFIIFLKP B LKBP

$LO QEB KRJ?BO CFKA QEB MI>@B S>IRB LC B>@E AFDFQ
> ? @ A B

1ELT >KPTBO
> ?FIIFLKP ? QBK QELRP>KAP @ QBKP A ERKAOBA QELRP>KAP B ERKAOBA JFIIFLKP

5EBK VLR TOFQB > @EB@H VLR TOFQB LRQ QEB KRJ?BO FK TLOAPTDFIBI>RRKBEIQP 2
TLOAP TOFQB QEB KRJ?BO FK B>@E MBOFLA CLIILTBA ?V QEB K>JB LC2OEBMEBEHA TIHEIED
>Q QEB IBCQ TEBOB QEB MBOFLBBME3SBIQBB2EB LKBP MBOFLA FP KLQ K>JBA 2EB @LJJ>P P
QEB MBOFLAP PL TEBOBSBO QEBOB FP > @LJMREK-QERXR PHBINBBK QEB TLSTARCGBB
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2EB KRJ?BO FP TOFQQBK >P PBSBKQV CLRO JFIIFLK QTL ERKAOBA BFDEQBBK QELRP>KA
PFUQV KFKB

53A4

&-52 - >JB>5ELIB,RJ?BO FK5LOAP

1Q>00Q >Q QEB IBCQ >KA K>JB QEB KRJ?BO FK B>@E MBOFLA CLIILTBA ?V QEB MBOFLA K>JB
RQ @LJJ>P FK QEB KRJ?BO QL PBM>0>QB QEB MBOFLAP
"L KLQ K>JB QEB LKBP MBOFLA

,>JB QEB KRJ?BO RPFKD TLOAP

Solution
,>JB QEB KRJ?BO FK B>@E MBOFLA CLIILTBA ?V QEB MBOFLA K>JB

.RQ QEB @LJJ>P FK QL PBM>0>QB QEB MBOFLAP

1L 8, 165,432,098, 710 FP K>JBA >P BFDEQ QOFIIFLK LKB ERKAOBA PFUQV CFSB ?FIIFLK CLRO ERKAO!
JFIIFLK KFKBQV BFDEQ QELRP>KA PBSBK ERKAOBA QBK




$,2/) 80&)56

,>JB QEB KRJ?BD258, 137, 904, 061 RPFKD TLOAP

1ELT >KPTBO

KFKB QOFIIFLK QTL ERKAOBA CFCQV BFDEQ ?FIIFLK LKB ERKAOBA QEFOQV PBSBK JFIIFLK KFKB ER
LKB

207 '2

>JB QEB KRJ?B(@, 864, 325, 619, 004 RPFKD TLOAP

1ELT >KPTBO

PBSBKQBBK QOFIIFLK BFDEQ ERKAOBA PFUQV CLRO ?FIIFLK QEOBB ERKAOBA QTBKQV CFSB JFIIFLF
QELRP>KA CLRO

5 B >0B KLT DLFKD QL OBSBOPB QEB MOL@BPP ?V TOFQFKD QEB AFDFQR2CODFQBEXERIB LC
KRJ?BO FK AFDFQP TB CFOPQ ILLH CLO QEB @IRB TLOAP QE>Q FKAF@>QB QEB MBOFLAP 'C
2I>KHP CLO QEB KBBABA MBOFLAP >KA QEBK CFIl FK QEB ?I>KHP TFQE QEB KRJ?BOP PBM>C
@LII>P

&52 -5 OFQB>5ELIB,RJ?BO 3PFKD "FDFQP

'ABKQFCV QEB TLOAP QE>Q FKAF@>QB MBOEBARBERIBINE® FP KBSBO K>JBA

"O>T QEOBB ?I1>KHP QL FKAF@>QB QEB KRJ?BO LC MI>@BP KBBABA FK B>@E MBOHLA 1BM
@LJII>P

,>JB QEB KRJ?BO FK B>@E MBOFLA >KA MI>@B QEB AFDFQP FK QEB @LOOB@Q MI>5@B S>IF

#6 +.%#%

5 OF@B1 .5885;: @C; 4A:002;>@E 75D 95885;: ?1B11a@4oM>:0 ;:1 4A:0t0 1534@E 5B > TELIB
KRJ?BO RPFKD AFDFQP

Solution
'ABKQFCV QEB TLOAP QE>Q FKAF@>QB MBOFLAP
#U@BMQ CLO QEB CFOPQ MBOFLA >II LQEBO MBOFLAP JRPQ E>SB QEOBB MI>@BP "O>T QEQBB ?I>k

MI>@BP KBBABA FK B>@E MBOFLA 1BM>0>QB QEB MBOFLAP ?V @LJJ>P
2EBK TOFQB QEB AFDFQP FK B>@E MBOFLA
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2EB KRJ?BO FP

5 OFQB QEB KRJ?BO QTL ?FIIFLK CLRO ERKAOBA PFUQV PFU JFIIFLK PBSBK ERKAOBA CLRO
TELIB KRJ?BO RPFKD AFDFQP

1ELT >KPTBO
2,466,714, 051

207 '2

5 OFQB QEB KRJ?BO BIBSBK ?FIIFLK KFKB ERKAOBA QTBKQV LKB JFIIFLK BFDEQ ERKAOBA Q
PFU >P > TELIB KRJ?BO RPFKD AFDFQP

1ELT >KPTBO
11,921,830, 106

NBBK QELF

EFOQV QE

'K 1Q>QFPQF@P '>K>A> BPQFJ>QBA QEB MMRIQHRPK LC 25 B @LRIA P>V QEB MLMRI>QFLK

LC 2OLKQL T>P >MMOLUFJ>QBIV  JFIIFLK 'K J>KV @>RBRBBAREBKBU>@Q S>IRB >K
>MMOLUFJ>QB KRJ?BO FP DLLA BKLRDE

2EB MOL@BPP LC >MMOLUFJ>QFKD > KRITHAFRIZ?BIBR >OB OLRKABA QL > PMB@FCF@ MI>@E
ABMBKAFKD LK ELT JR@QE >@@RO>@V FP KBBABA 1>VFKD QESKQEB-FEMRSQBEIXQBV
JFIIFLK JB>KP QE>Q TB OLRKABA QL QEB ERKAOBA QELRP>KAP MI>@B

OLRKA QL QEB KB>0OBPQ ERKAOBA
Solution




$,2/) 80&)56

207 '2

OLRKA QL QEB KB>OBPQ ERIS5QBA

1ELT >KPTBO
17, 900

207 '2

OLRKA QL QEB KB>OBPQ HR¥KAOBA

1ELT >KPTBO
468, 800
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&-52 - OLRKAS5ELIB ,RJ?BOP

*L@>QB QEB DFSBK MI>@B S>IRB >KA J>OH FQ AFQEQKQDQEB IBCQ LC QEB >O0LT
@E>KDB

3KABOIFKB QEB AFDFQ QL QEB OFDEQ LC QEB DFSBK MI>@B S>IRB
'P QEFP AFDFQ DOB>QBO QE>K LO BNR>I QL

r 7BPe>AAQL QEB AFDFQ FK QEB DFSBK MI>@B S>IRB
r ,LeAL KL@E>KDB QEB AFDFQ FK QEB DFSBK MI>@B S>IRB

0BMI>@B >Il AFDFQP QL QEB OFDEQ LC QEB DFSBK MI>@B S>IRB TFQE WBOLP

OLRKAL03, 978 QL QEB KB>OBPQ

> ERKAOBA
? QELRP>KA
@ QBK QELRP>KA

Solution
>

AL KLQ
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*L@>QB QEB ERKAOBAP MI>@B FK

3KABOIFKB QEB AFDFQ QL QEB OFDEQ LC QEB ER

KAOBAP MI>@B

1FK@B FP DOB>QBO QE>K LO BNR>I QL >AA QL
>| AFDFQP QL QEB OFDEQ LC QEB ERKAOBAP MI>

QEB O0OBMI>@B
®B TFQE WBOLP

1L FP

OLRKABA QL QEB KB>0OBPQ ERKAC

DB,

*L@>QB QEB QELRP>KAP MI>@B >KA RKABOIFKB QOEB AFDFQ QL QEB

OFDEQ LC QEB QELRP>KAP MI>@B

1FK@B FP DOB>QBO QE>K LOBNR>I QL >AA QL

QEB O0BMI>@B
>l AFDFQP QL QEB OFDEQ LC QEB ERKAOBAP MI>@B TFQE WBOLP

1L FP

OLRKABA QL QEB KB>OBPQ QELRF

>K
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*L@>QB QEB QBK QELRP>KAP MI>@B >KA RKABOIFKB QEB AFDFQ QL QEB OFDEQ LC QEB
QBK QELRP>KAP MI>@B

1FK@B FP IBPP QE>K TBIB>SB QEB >P FP >KA QEBK OBMI>@B QEB AFDFQP QL
QEB OFDEQ TFQE WBOLP

1L FP  OLRKABA QL QEB KB>OBP(
QBK QELRP>KA

207 '2

OLRKA QL QEB KB>OBPQ > ERKAOBA ? QELRP>KA @ QBK QELRP>KA

1ELT >KPTBO
> ? @

2072

OLRKA QL QEB KB>OBPQ > ERKAOBA ? QELRP>KA @ QBK QELRP>KA

1ELT >KPTBO
> ? @

*+4:/,? ;,2:/62+9 '4* 6627 [</9/(/2[:?"  +9:9

2EB KRJ?BOP >KA >OB @>IIBA JRIQFMIBPLC  JRIQFMIBLC @>K ?BNIOEAR®K>P QE|
LC > @LRKQFKD KRJ?BO >KA

1FJFI>0I¥ JRIQFMIB LC TLRIA ?B QEB MOLAR@Q LC > @LRKQFKD KRJ?BO >KA

5 B @LRIA CFKA QEB JRIQFMIBP LC >KV KRJ?BO ?V @LKQFKRFKD QEFP MOL@BPP



$2/) 80&)56

2EB2>?1B 7BILT PELTP QEB JRIQFMIBP LC QEOLRDE CLO QEB CFOPQ @LRKQFKD KRJ?BOI

Table 1

Counting Number 1 2 3 4 5 6 7 8 9 10 1 12

+RIQFMIBP LC

+RIQFMIBP LC

+RIQFMIBP LC

+RIQFMIBP LC

+RIQFMIBP LC

+RIQFMIBP LC

+RIQFMIBP LC

+RIQFMIBP LC

+RIQFMIBP LC

+RIQFMIB LC > ,RJ?BO

KRJ?BO FPmultiple LC FC FQ FP QEB MOLAR@Q LC > @LRKQFKD KRJ?BO >KA

KLQEBO T>V QL P>V QE>Q FP > JRIQFMIBLC FP QL P>V QE>Q FP AFSFPF?IB?V 2E>Q JB:
AFSFAB FKQL TB DBQ > @LRKQFKDOSRI®BO3 FP PL FB - 3

"FSFPF?IB ?V > ,RJ?BO

'C > KRJ?BDFP > JRIQFMIB QEBX FRiivisible ?V:

*LLH >Q QEB JRIQFMIBPACIBFKREBV >l BKA FK LO ,RJ?BOP TFQE I>PQ AFDFQ LC LO >OB//
?V  *LLHFKD CLO LQEBO M>RQBOKHEFR PELTP JRIQFMIBP LC QEB KRJ?BOP QEOLRDE TB (
AFP@LSBO QEB CLIILTFKD AFSFPF?FIFQV QBPQP

"FSFPF?FIFERQP

KRJ?BO FP AFSFPF?IB ?V
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FC QEB I>PQ AFDFQ FP LO

FC QEB PRJ LC QEB AFDFQP FP AFSFPF?IB ?V
FC QEB I>PQ AFDFQ FP LO

FC FQ FP AFSFPF?IB ?V ?LQE >KA

FC FQ BKAP TFQE

'P AFSFPF?IB?Y V V V V
Solution

[ S S R [ —

'P  AFSFPF?IB ?V

" ,L
LBPFQBKAFK  LO FP KLQ AFSFPF?IB 2V

'P  AFSFPF?IB ?V

5E>Q FP QEB PRJLC QEB AFBFOPR- 2 + 5 = 18
'P QEB PRJAFSFPF?IB ?V| 7BP  FP AFSFP?2IB ?V

'P  AFSFPF?IB?V LO

5E>Q FP QEB I>PQ AFDFQ 'Q FP AFSFP?IB ?V ?RQ KLQ ?V

'P  AFSFPF?IB ?V

'P FQ AFSFPF?IB ?V ?LQE| LO FP KLQ AFSFPF?IB?V PL  FP KLQ AFSFPH?IB ?V

2072

"BQBOJFKB TEBQEBO FP AFSFPF?IB?V 2?2V 2?2V 2?2V >KA?V

1ELT >KPTBO
v >KA




$2/) 80&)56

207 '2

"BQBOJFKB TEBQEBO FP AFSFPF?IB?V ?V 2V 2?2V >KA?V

1ELT >KPTBO
2V >KA

14* 8/3+ '):58/@":/54 '4* +'0: 53354 ;2:/62+9

'K J>QEBJ>QF@P QEBOB >0B LCQBK PBSBO>I T>VP QL Q>IH >?L RTB{SEFBRIB GEBFHEGL C>0
JRIQFMIB:LCB @>K P>V QESfOAFSFPF?IB&\O BU>IMIB PFK@B FP > JRIQFMIBLC TBP>V Fi
AFSFPF?IB?V 1FK@B FP>JRIQFMIBLC TBP>V FP AFSEPARBUNOBPP QEFP PQFII >KLQI
T>V

1FK@B 9 = 72 TB P>V QE>Q >KA >OB C>@QLOP LC SEBK FERTOFUBP>V TB E>SB
C>@QLOBA

-QEBO T>VP QL C>@QLO 72AB 36,3 - 24,4 - 18, and 6 - 12 1BSBKQV QTL E>P J>KV C>@QLOP
>KA

$>@QLOP

'Ca - b = m QEBK>KA >OB C>@QI9OP LC

1LJB KRJ?BOP IFHB E>SB J>KV C>@QLOP -QEBO KRJ?BOP E>SB LKIV QTL C>@QLOP

.OFJB ,RJ?BO >KA ILIMLPFQB ,RJ?BO

prime number FP > @LRKQFKD KRJ?BO DOB>QBO QE>K TELPB LKIV C>@QLOP >0B >KA FQPBIC

@LIMLPFQB KRJ?BO FP > @LRKQFKD KRJ?BO QE>Q FP KLQ MOFJB @LJMLPFQB KRJ?BO E3P C>@C
FQPBIC

2EB @LRKQFKD KRJ?BOP COLJ QL >GBDREEBAPK QEBFO C>@QLOP +>HB PROB QL >DOBE
gMOFJBh LO g@LJIJMLPFQBh I>?BI CLO B>@E
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53A4

2EB MOFJB KRIIBBP QE>K >OB >KA LQF@B QE>Q QEB LKIV BSBK MOFJB KRJ?BO
FP

@LIMLPFQB KRJ?BO @>K ?B TOFQQBKIORAREBGNDEIBP 2EFP FP @>11BA QEB MOFJB C>@QLOF
QEB KRJ?BEKAFKD QEB MOFJB C>@QLOFW>QFLK LC > @LIJMLPFQB KRJ?BO TFIl ?B RPBCRI I>Ql

.OFJB $>@QLOFW>QFLK

2EB MOFJB C>@QLOFW>QFLK LC > KRJ?BO FP QEB MOLAR@Q LC MOFJB KRJ?BOP QE>Q BNRPIP QEB KF

2L CFKA QEB MOFJB C>@QLOFW>QFLK LC > @EKMERNVIBIKRISBQLOP LC QEB KRJ?BO >KA RPB
@OB>QB QTL ?0>K@EBP 'C > C>@QLO FP MOFJB QE>Q ?0>K@E FP @LIMIBQB IFO@IB QE>Q

'C QEB C>@QLO FP KLQ MOFJB CFKA QTL C>@QLOP LC QEB KRJ?BO >KA @LKQFKRB QEB MOLG
E>SB @FO@IBA MOFJBP >Q QEB BKA QEB C>@QLOFW>QFLK FP @LJMIBQB 2EB @LJMLPFQB K
> MOLAR@Q LC MOFJB KRJ?BOP

$>@QLO
Solution
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5BP>2-2-2-2-3FP QEBMOFJB C>@QLOFW:BJIFRKRC>ING TOFQB QEB MOFJBP FK >PBBKAFKD LO/
PROB QL JRIQFMIV QEB C>@QLOP QL SBOFCV VLRO >KPTBO

'C TB CFOPQ C>@QLOBABBRKQQBRD BU>IMIE) >R QEB OBPRIQ TLRIA PQFII ?B QEB P>JB $FKFPE QEE
MOFJB C>@QLOFW>QFLK >KA SBOFCV QEFP CLO VLROPBIC

2072

$FKA QEB MOFJB C>@QLOFW>QFLK LC

1ELT >KPTBO
2:2:2-2-5
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207 '2

$FKA QEB MOFJB C>@QLOFW>QFLK LC

1ELT >KPTBO
2-2-3-5

&-52 - $FKA QEB .OFJB $>@QLOFW>QFLK LC > ILJIMLPFQB ,RJ?BO

$FKA QTL C>@QLOP TELPB MOLAR@Q FP QER\RFBREFFBB®I?BOP QL @OB>QB Q]
'C > C>@QLO FP MOFJB QE>Q ?0>K@E FP @LIMIBQB !FO@IB QEB MOFJB IFHB > ?R
'C > C>@QLO FP KLQ MOFJB TOFQB FQ >P QEB MOLAR@Q LC QTL C>@QLOP >KA @
5 OFQB QEB @LJMLPFQB KRJ?BO >P QEB MOLAR@Q LC >Il QEB @FO@IBA MOFJBP

L 20>K@E
A LK QEB ¢
| KQFKRB G

$FKA QEB MOFJB C>@QLOFW>QFLK LC
Solution

Step 1.$FKA QTL C>@QLOP TELPB MOLAR@QFP ~ >KA >OB KLQ MOFJB
OB>H >KA FKQL QTL JLOB C>@QLOP !LKQFKRB RKQFI >Il MOFJBP >0OB C>@QLOBA

Step 2.5 OFQB >P QEB MOLAR@Q LC >l QEB @FO@IBAMOFJBP252 =2 -2-3-3-7
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$FKA QEB MOFJB C>@QLOFW>QFLK LC

1ELT >KPTBO
2-3-3-7

2072

$FKA QEB MOFJB C>@QLOFW>QFLK LC

1ELT >KPTBO
2-3.7-7

KB LC QEB OB>PLKP TB ILLH >Q JRIQFMIBP >KA MOFJBP FP QL RPB QEBPB QB@EKFNRBP QL
JRIQFMIB LC QTL KRJ?BOP 2EFP TFIl ?B RPBCRI TEBK TB >AA >KA PR?QGB@BKD>@QFLKP TI
ABKLJIFK>BLZL JBQELAP >OB RPBA JLPQ LCQBK QL CFKA QEB IB>PQ @LJJLK JRIQFMIB >KA T
?LQE LC QEBJ

2EB CFOPQ JBQELA FP QEB *FPQFKD +RIQFEFRR €EBHBAPY @LJILK JRIQFMIBLC >KA TBI|
QEB CFOPQ CBT JRIQFMIBP LC  >KA

LQF@B QE>Q PLJB KRJ?BOP >MMB>0 FK ?LQE IFe@mMAERVIHODEQEB >KA

5 B PBB QE>Q QEB CFOPQ CBT @LJILK JRIQFMIBP LC >KA >0B  >KA 1FK@B FP QEB
QEB @LJJLK JRIQFMIBP TB @81-P@QES: 9A8@5<BB LCQBK RPB QEB >??0BSF>QFLK *I+

*B>PQ ILJILK +RIQFMIB

2EB IB>PQ @LJJLK JRIQFMIB *!+ LC QTL KRJ?BOP FP QEB PJ>IIBPQ KRJ?BO QE>Q FP > JRIQFMIB LC ?L

2EB MOL@BAROB ?LU IFPQP QEB PQBMP QL Q>HB QL CFKA QEB *l+ RPFKD QEB MOFJB C>@Q
CLO >KA
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&52 - $FKA QEB *B>PQ ILJILK +RIQFMIB ?V *FPQFKD +RIQFMIBP

*FPQ PBSBO>| JRIQFMIBP LC B>@E KRJ?BO
*LLH CLO QEB PJ>IIBPQ KRJ?BO QE>Q >MMB>OP LK ?LQE IFPQP
2EFP KRJ?BO FP QEB *I+

#6 +.}#

$FKA QEB IB>PQ @LJILK JRIQFMIB LC >KA ?V IFPQFKD JRIQFMIBP
Solution

+>HB IFPQP LC QEB CFOPQ CBT JRIQFMIBP LC >KALC >KA RPB
QEBJ QL CFKA QEB IB>PQ @LJJLK JRIQFMIB

*LLH CLO QEB PJ>IIBPQ KRJ?BO QE>Q >MMB>OP FK ﬁﬁg@%@%Sfj;?gF%;E"CMB;?ALK A= IFHP

LQF@B QE>Q FP FK ?LQE IFPQP QLL 'Q FP > @LJJLK JRIQFBIE’ @RQI® BRIREQIBEB

$FKA QEB IB>PQ @LJJLK JRIQFMIB ?V IFPQFKD JRIQFMIBP  >KA
1ELT >KPTBO

207 '2

$FKA QEB IB>PQ @LJILK JRIQFMIB ?V IFPQFKD JRIQFMIBP  >KA
1ELT >KPTBO

PL FPQ

-RO PB@LKA JBQELA QL CFKA QEB IB>PQ @LJJLK JRIQFMIB LC QTL KRJ?BOP FP QL RPB 2EB .OF
+BQELA *BRCFKA QEB *I+ LC >KA >D>FK QEFP QFJB RPFKD QEBFO MOFJB C>@QLOP
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$FKA QEB *B>PQ !LJILK +RIQFMIB *1+ LC >KA RPFKD QEB MOFJB C>@QLOP JBQELA
Solution

LQF@B QE>Q QEB MOFJB C$® QL AP\ QEB MOFJB C>@QI20B LE) >OB FK@IRABA FK QEB
4+ (2.2.3.3) 1L FP QEBIB>PQ @LJILK JRIQFMIBLC >KA

V J>Q@EFKD RM QEB @LJJLK MOFJBP B>@E @LJILK MOFJB C>@QLO FP RPBA LKIV LK@B 2
QE>Q FP 8@EB@LJILK JRIQFMIB

2072

$FKA QEB *!+ RPFKD QEB MOFJB C>@QLOP JBQELA >KA
1ELT >KPTBO
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207 '2

$FKA QEB *I+ RPFKD QEB MOFJB C>@QLOP JBQELA >KA
1ELT >KPTBO

&52 - $FKA QEB *B>PQ ILJJLK +RIQFMIB 3PFKD QEB .OFJB $>@QLOP +BQELA

5 OFQB B>@E KRJ?BO >P > MOLAR@Q LC MOFJBP

*FPQ QEB MOFJBP LC B>@E R@IEBEDFIBP SBOQF@>IIV TEBK MLPPF?IB
OFKD ALTK QEB @LIRJKP

+RIQFMIV QEB C>@QLOP

$FKA QEB *B>PQ ILJILK +RIQFMIB *I+ LC >KA RPFKD QEB MOFJB C>@QLOP JBQELA
Solution

$FKA QEB MOFJBP LC >KA
+>Q@E MOFJBP SBOQF@=>IIV TEBK MLPPF?IB OFKD ALTK >Il @LIRIKP

+RIQFMIV QEB C>@QLOP

2EB*I+ LC >KA FP

2072

$FKA QEB *'+ RPFKD QEB MOFJB C>@QLOP JBQELA  >KA
1ELT >KPTBO
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207 '2

$FKA QEB *!+ RPFKD QEB MOFJB C>@QLOP JBQELA >KA
1ELT >KPTBO

+? 54)+6:9

] Place \alue >P FEFDROB
] Name a Whole Number in Words

1Q>0Q >Q QEB IBCQ >KA K>JB QEB KRJ?BO FK B>@E MBOFLA CLIILTBA ?V QF
RQ @LJJI>P FK QEB KRJ?BO QL PBM>0>QB QEB MBOFLAP
"L KLQ K>JB QEB LKBP MBOFLA

] Write a Whole Number Using Digits

'‘ABKQFCV QEB TLOAP QE>Q FKAF@>QB MBOFLAP 0BJBJ?BO QEB LKBP MBOI

"O>T ?I>KHP QL FKAF@>QB QEB KRJ?BO LC MI>@BP KBBABA FK B>@E MBOF
MBOFLAP ?V @LJJ>P

,>JB QEB KRJ?BO FK B>@E MBOFLA >KA MI>@B QEB AFDFQP FK QEB @LOOB(
MLPFQFLK

] Round Whole Numbers
*L@>QB QEB DFSBK MI>@B S>IRB >KA J>0OH FQ AFQEQKQDQEB IBCQ LC QEB
>OO0LT AL KLQ @E>KDB
3KABOIFKB QEB AFDFQ QL QEB OFDEQ LC QEB DFSBK MI>@B S>IRB
'P QEFP AFDFQ DOB>QBO QE>K LO BNR>I QL
g 7BPf>AA QL QEB AFDFQ FK QEB DFSBK MI>@B S>IRB
q ,LfAL KL@E>KDB QEB AFDFQ FK QEB DFSBK MI>@B S>IRB
O0BMI>@B >Il AFDFQP QL QEB OFDEQ LC QEB DFSBK MI>@B S>IRB TFQE WBOL

] Divisibility T ests: KRJ?BO FP AFSFPF?IB ?V
r FC QEB I>PQ AFDFQ FP LO
r FC QEB PRJLC QEB AFDFQP FP AFSFPF?IB ?V
r FC QEB I>PQ AFDFQ FP LO
r FCFQFP AFSFPF?IB ?V ?2LQE >KA
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r FCFQBKAP TFQE
] Find the Prime Factorization of a Composite Number

$FKA QTL C>@QLOP TELPB MOLAR@Q FP QKR NFEBREFRBBRJI?BOP QL @OB>(
QTL ?0>K@EBP

'C > C>@QLO FP MOFJB QE>Q ?0>K@E FP @LIJMIBQB !FO@IB QEB MOFJB IFHB
'C > C>@QLO FP KLQ MOFJB TOFQB FQ >P QEB MOLAR@Q LC QTL C>@QLOP >K
5 OFQB QEB @LJMLPFQB KRJ?BO >P QEB MOLAR@Q LC >Il QEB @FO@IBA MOF.

] Find the Least Common Multiple by Listing Multiples

*FPQ PBSBO>I JRIQFMIBP LC B>@E KRJ?BO
*LLH CLO QEB PJ>IIBPQ KRJ?BO QE>Q >MMB>OP LK ?LQE IFPQP
2EFP KRJ?BO FP QEB *I+

] Find the Least Common Multiple Using the Prime Factors Method

5 OFQB B>@E KRJ?BO >P > MOLAR@Q LC MOFJBP

*FPQ QEB MOFJBP LC B>@&RRIEBEDFIBP SBOQF@>IIV TEBK MLPPF?IB
OFKD ALTK QEB @LIRJKP

+RIQFMIV QEB C>@QLOP

2599'8?

composite number
@LIJMLPFQB KRJ?BO FP > @LRKQFKD KRJ?BO QE>Q FP KLQ MOFJB @LJMLPFQB KRJ?BO E>P
QE>K >KA FQPBIC
counting numbers
2EB @LRKQFKD KRJ?BOP >0B QEB KRJ?BOP d
divisible by a number
'C > KRJ?B@ FP > JRIQFMIB LQEBK, FP AFSFPF?1B 2@ FP > JRIQFMIBLC QEBK FP AFSFPF?IB
a%
factors

'‘Cab = m QEB#and b >0OB C>@QUOPLER@B o QEBK >KA >0OBC>@QLOPLC
least common multiple
2EB IB>PQ @LJJILK JRIQFMIB LC QTL KRJ?BOP FP QEB PJ>IIBPQ KRJ?BO QE>Q FP > JRIQFMIB LC
multiple of a number
KRJ?BO FP > JRIQFMIB-03-Q FP QEB MOLAR@Q LC > @LRKQFKD KRJ?BO >KA
number line
KRJ?BO IFKB FP RPBA QL SFPR>IFWB KRJ?BOP 2EB KRJ?BOP LK QEBRRFP?BEBMBLDBQ 1>0
COLJ IBCQ QL OFDEQ >KA PJ>IIBO >P QEBV DL COLJ OFDEQ QL IBCQ
origin
2EB LOFDFK FP QEB MLFKQ I>?BIBA LK >KRJ?BO IFKB




$.2/)
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prime factorization
prime number

whole numbers
2EB TELIB KRJ?BOP >0OB QEB KRJ?BOP

d

2EB MOFJB C>@QLOFW>QFLK LC > KRJ?BO FP QEB MOLAR@Q LC MOFJB KRJ?BOP Q

MOFJB KRJ?BO FP > @LRKQFKD KRJ?BO DOB>QBO QE>K TELPB LKIV C>@QLOP >0

=>Q BNR

B >KATF

8Y:/)+ 'L +9 +8+):

#9+ 20+ $ '2;+ =/.. %.52+ ;3(+89

'K QEB CLIILTFKD BUBO@FPBP CFKA QEB MI>@B S>IRB LC B>@E AFDFQ FK QEB DFSBK K

> >
? ?
@ @
A A
B B
> >
? ?
@ @
A A
B B
> >
? ?
@ @
A A
B B
> >
? ?
@ @
A A
B B

'K QEB CLIILTFKD BUBO@FPBP K>JB B>@E KRJ?BO RPFKD TLOAP
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'K QEB CLIILTFKD BUBO@FPBP TOFQB B>@E KRJ?BO >P > TELIB KRJ?BO RPFKD AFDFQP

CLRO ERKAOBA QTBISB

QTL ERKAOBA CFCQV QEOBB

QEFOQV CFSB QELRP>KA KFKB ERKAOBA

PBBBKIQV CKBB)ELRP>KA CLRO ERKAOBA CF

CQBBK

BIBSBK JFIIFLK CLOQV CLRO QELRP>KA L
PFUQV PBSBK

KB BRBEOQBBK JFIIFLK LKB ERKAOBA QTL QEL
PBSBK ERKAOBA BFDEQV QEOBB

RP>KA

QEOBB ?FIIFLK QTL ERKAOBA QTBKQV PF
ERKAOBA QTBISB QELRP>KA PBSBKQBBK

J JBIBSBICHIB-LK CLRO ERKAOBA PBSBKQV
QEFOQV PFU QELRP>KA LKB ERKAOBA PFU

| KB JFIIFLF

'K QEB CLIILTFKD OLRKA QL QEB FKAF@>QBA MI>@B S>IRB

OLRKA QL QEB KB>OBPQ QBK

> 2

OLRKA QL QEB KB>OBPQ QBK

> 2

OLRKA QL QEB KB>0OBPQ ERKAOBA

?

OLRKA QL QEB KB>0OBPQ ERKAOBA

?

OLRKA QL QEB KB>OBPQ QBK

?

OLRKA QL QEB KB>OBPQ QBK

?

OLRKA QL QEB KB>0OBPQ ERKAOBA

?

OLRKA QL QEB KB>0OBPQ ERKAOBA

?

'K QEB CLIILTFKD BUBO@FPBP OLRKA B>@E KRJ?BO QL QEB KB>OBPQ > ERKAOBA ? QELF

QELRP>KA
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'K QEB CLIILTFKD BUBO@FPBP RPB QEB AFSFPF?FIFQV QBPQP QL ABQBOJFKB TEBQEBC
>KA

14* 8/3+ "):58/@"./549 '4* +'9: 53354 ;2:/62+9

'K QEB CLIILTFKD BUBO@FPBP CFKA QEB MOFJB C>@QLOFW>QFLK

'K QEB CLIILTFKD BUBO@FPBP CFKA QEB IB>PQ @LJJLK JRIQFMIB LC QEB B>@E M>FO LC
JRIQFMIBP JBQELA

'K QEB CLIILTFKD BUBO@FPBP CFKA QEB IB>PQ @LJJLK JRIQFMIB LC B>@E M>FO LC KRJ
C>@QLOP JBQELA
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Writing a Check (LB ?LRDEQ > @>0 CLO
&B M>FA CLO QEB @>0 TFQEOF@ERE&BIMRO
MOF@B FK TLOAP

Writing a Check +>OFPP>HFQ@EBK OBJLAEH
aB-Pe 1EB TOLQB > @EB@H QL QEB @L
5 OFQB QEB >JLRKQ M>FA FK TLOAP

3IFKD
KQO>@QL(

Buying a Car (LB ?LRDEQ > @>0 CLO

QELRP>KA >KA A QBK QELRP>KA

OLRKA QEB MOF@B QL QEB KB>0OBPQ > QBK

Remodeling a Kitchen+>OFPP>HFQ@EBK

pgg%éo@l_m OLRKA QEB @LPQ QL
Kk BK ? ERKAOBA @ QELRP>KA 3
QBK QELRP>KA

Population 2EB MLMRI>QFLK LC !EFK> T>P
LK ,LSBJ?BO OLRKA QEB
MLMRI>QFLK QL QEB KB>OBPQ > ?FIIFLK ?
ERKAOBA JFIIFLK >KA @ JFIIFLK

Astronomy 2EB >SBO>DB AFPQ>K@B ?BQT|
>KA QEB PRK FP HFILIBQOBP OLRKA
AFPQ>K@B QL QEB KB>OBPQ > ERKAOBA JH
QBK JFIIFLK >KA @ JFIIFLK

Grocery Shopping&LQ ALDP >0OB PLIA FK M3
LC 7?RQ ELQ ALD ?RKP @LJB FK M>@HP LC
FP QEB PJ>IIBPQ KRJ?BO QE>Q J>HBP QEB E
?RKP @LJB LRQ BSBK

BFEEESEBRILC >KA M>0QV @RMP @LJB FK|
LEFBETP 5EAQ FP QEB PJ>IIBPQ KRJ?BO QE>Q

> @HEb@&tery Shopping.>MBO MI>QBP >OB PLIA K

QEB
KA A

BBK #>0QF
EB
IIFLK ?

K
M>@HP L
J>HBP QE

MI>QBP >KA @RMP @LJB LRQ BSBK

%8/:/4- > +8)/9+9

5E>Q FP QEBGHUOBK@B ?BQTBBK MOFJB K
>KA @LIMLPFQB KRJ?BOP

RIJZBEEB >K BSBOVA>V BU>JMIB TEBOB FQ EH

OLRKA KRJ?BOP

#UMI>FK FK VLRO LTK TLOAP ELT QL CFKA

C>@QLOFW>QFLK LC > @LJMLEFFDKRI?BO
JBQELA VLR MOBCBO

QEB MOFJB

IMP QL
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49=+89
?
> QELRP>KAP ? ERKAOBAP @_GBKE" QSE&?E;?TEABPKS > QBK JFIIFLKP ? QBK QELRFA>KAP @
A QBK QELRP>KAP B LKBP RYBKP A QELRP>KAP B JFIIFLKP
ERKAOBAP
> QOFIIFLKP ? ?FIIFLKP @ JFIIF QEOBB ERKAOBA PFUQV CLRO
A QBKP B QELRP>KAP EKE QELRP>KA PBSBKQV BFDEQTRA A Cron ERKAOBA QBK
L LK SEOEQ RO v vasa i sroko
BA BFDEQV KFKB QELRP>KA CFSB
QEOBB
> ? > ? > ?
S - > ? @ > ? @
AFSFPF?IB 2V >KA AFSFPF2IB 2V KA AFSFPF2IB 2V SKA
AFSFPF2IB 2V AFSFPF?2IB?V  >KA AFSFPF2IB 2V >KA
2-43 2-2-3-11 3-3-7-11
2:2:-2-2-3-3-3 2:2:-2-2-3-3-3-5H
QTBKQV CLRO QELRP>KA CLRO
ERKAOBA KFKBQV QEOBB ALIIZOP
> ? @ > ?
A @
KPTBOP J>V S>0V KPTBOP J>V S>0V
::8/(;:/549

2EFP @E>MQBO E>P ?BBK >A>MQBA COLJ g’KQOLAR@QFLK &0 HEBERIZROMBIKLQ>U
2V *VKK +>0B@BH >KA +>0V KKB KQELKV 1JFQE TEF@EFP f@BK@B A>MQBA ?V
'W>?BI> +>WREBB QEB ILMVOFDEQ M>DB CLO JLOB FKCLOJ>QFLK



https://openstax.org/details/books/elementary-algebra
https://creativecommons.org/licenses/by/4.0/
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*B>0OKFKD -?GB@QFSBP

V QEB BKA LC QEFP PB@QFLK VLR TFII ?B >?IB QL

3PB S>0OF>?IBP >KA >IDB?0>F@ PVJ?LIP
'ABKQFCV BUMOBPPFLKP >KA BNR>QFLKP
1FIMIFCV BUMOBPPFLKP TFQE BUMLKBKQP

]
]
]
] 1FIMIFCV BUMOBPPFLKP RPFKD QEB LOABO LC LMBO>QFLKP

#9+ $'8/'(2+9 '4* 2-+(8 ') 123(529

%OBD >KA IBU E>SB QEB P>JB 7AIDEEBV TBOB ?LQBBOBKECVB>0OP 2EFP VBAO\VWBSOB8P FP
LIA >KA IBU BB PL IBU FBVB>OP LIABO QE>K %OBD 5EBKI%OBD T>P15 SEBK %OBD:FP
IBU TFII 2838 ,L J>QQBO TE>Q %FOHIR FP IBUDB TFII >IT>VBAB>0P JLOB OFDEQ

'K QEB I>KDR>DB LC >IDB?0> TB P>\PGBE-%OBEFDB >0B0OF>4RA QEB QEORBLFPO>KQ
2EB >DBP @E>KDB LPLSSDR/FP > S>OF>?BVES®P ?BQTBBK QEBJ >IT>VP PQ>VP QEB P>JB PL
AFCBOBK@B FP QEB @LKPQ>KQ

'K >IDB?0> IBQQBOP LC QEB >IME>?BQ >OB RPBA QL OBMOBPBKQ S>0GF>RIBR2EBRANE_PB TB (¢
@LRIA RPB- 3 QL OBMOBPBK®>BB/j1BB QEB Q>?IB ?BILT

Greg®age| Alex@ age
12 15
20 23
35 38
g g+3

*BQQBOP >0B RPBA QL OBMOBPBKQ S>OF>?IBP *BQQBOP LEQBK RRBA ELO S>OF>?IBP >0B
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4>0F>?IBP >KA ILKPQ>KQP

S>0OF>?IB FP > IBQQBO QE>Q OBMOBPBKQP > KRJ?BO LO NR>KQFQV TELPB S>IRB J>V @E>KDB
@LKPQ>KQ FP > KRJ?BO TELPB S>IRB >IT>VP PQ>VP QEB P>JB

2L TOFQB >IDB?0>FRKBBA PLIB PVJ?LIP >P TBIl >P KRJ?BOP >KA S>OF>?IBP 2EBOB >0OB PBSBC
PVJ?LIP TB TFIl ?B RPFKD BELIB .RJ?BOP TB FKQOLAR@BA QEB PVJ?LIP CLO QEB CLRO ?>PF@ :
LMBO>QF:KRFQFLK PR?QO>@QFLK JRIQFMIF@>QM KFHIRAESBPWIEKQEBJ EBOB >ILKD TFQE
TLOAP TB RPB CLO QEB LMBO>QFLKP >KA QEB OBPRIQ

Operation Notation Say: The result isE
AAFQFLK a+b a plus b QEB PRJ uGKA
1R?QO>@QFLK | a — b a minus b QEB ABDBK@B3%
+RIQFMIF@>QFLK: - b, (a) (b) , (a) b, a (b) a times b 2EB MOLAR@QK®)
"FSFPFLK a-+b,a/b, ¢, b)a a AFSFABAI?V | 2EB NRLQFBKQ-K@h

'K >IDB?0> QEB @OLPP PVJ?LI m FP KLQ RPBA QL PELT JRIQFMIF@>QFLK ?B@>RPB QE>Q PVJ
@LKCRPFLK "3BPIB>K3 x y QEOBB QRJBRS - z - y QEOBB QEJBResy 2 L J>HB FQ @IB>0
RPB ] LO M>OBKQEBPBP CLO JRIQFMIF@>QFLK

5 B MBOCLOJ QEBPB LMBO>QFLKP LK QTL KRJ?BOP 5EBK QO>KPI>QFKD COLJ PVJ?LIF@ CLOJ (
TLOAP QL PVJ?LIF@ CLOJ M>V >QQBKQFLE I QER HEIMR/LR CFKA QEB KRJ?BOP

] 2EB?A90f 5 and 3 JB>KP >AAMIRB TEF@E TB TOFQB->P

] 2EB05221:#1 of Y and2 JB>KP PR?QOIERR. TEF@E TB TOFQB->P

] 2EB<30A/@f 4 and 8 JB>KP JRIQFMI@FJIB® TEF@E TB @>K TOEQB >P

] 2EB=A;@510820 and 5 JB>KP AFSRARV5 TEF@E TB @>K TOERB 5P

20>KPI>QB COLJ >IDB?0> QL TLOAP
> 12414
2 (30) (5)
@ 64 =8
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A x—y
Solution
>
12 + 14
MIRP
QEB PRJ LC QTBISB >KA CLROQBBK

?

(30) (5)

QFJBP

QEB MOLAR@Q LC QEFOQV >KA CFSB

@
64 -8
AFSFABA ?V

QEB NRLQFBKQ LC PFUQV CLRO >KA BFDEQ

A

=Yy
X JFKRR)

QEB AFBDBK@B £KAYy

2072

20>KPI>QB COLJ >IDB?0> QL TLOAP

> 18411
?2 (27)(9)
@847
A p—gq
1ELT KPTBO
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> MIRP QEB PRJLC BFDEQBBK >KA BIBSBK
? QFJBP QEB MOLAR@Q LC QTBKQV PBSBK >KA KFKB
@ AFSFABA?V QEB NRLQFBKQ LC BFDEQV CLRO >KA PBSBK

A <JFKRR QEB AFBDBK@BKZ+

2072

20>KPI>QB COLJ >IDB?0> QL TLOAP

> 47 —19
? 729
@m-+n
A (13)(7)
1ELT KPTBO
> JFKRP QEB AEBOBK@B LC CLOQV PBSBK >KA KFKBQBBK
?  AFSFABA?V QEB NRLQFBKQ LC PBSBKQV QTL >KA KFKB

@ 9 MIRP QEB PRJ BCKA
A QFJBP QEBMOLAR@Q LC QEFOQBBK >KA PBSBK

5EBK QTL NR>KQFQFBP E>SB QEB P>JB S>IRB TB P>V QEBV >OB BNR>| >KA @& REBR@Q QEBJ TF

#NR>IFQV 1VJ?LI

a = bis read a is equal to b
2EB PVJ?LE FP @>IIBABNEB>| PFDK

K FKBNR>IFBRPBA FK >IDB?0> QL @LIM>OB QTL NR>KQFQFEBUHKQ S>NRBPSEEECRI?BO
IFKB @>K EBIM VLR RKABOPQ>KA FKBNR>IFQFBP 0BJBJ?BO QE>Q LK QEB KRIMBO HPKB QEB KR
QEBV DL COLJ IBCQ QL OFDEQ 1L FChTPHIQB-QIBMEEIB>KP GERQL QEB ORDEQQEB

KRJ?BO IFKBBRRPB QEB PVJ?LIP >KA CLO FKBNR>IFQFBP
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'KBNR>IFQV

a bFP OBaAP IBPP QE>K
a FP QL QEB IBAKIPEB KRJ?BO IFKB

a b FP OBaAP DOB>QB® QE>K
a FP QL QEB ORDEQQEB KRJ?BO IFKB

2EB BUMOBPRFLKRnd o b @>K ?B OB>A COLJ IBCQ QL OFDEQ LO OFDEQ QL IBCQ QELRDE F

RPR>IIV OB>A COLJ IBCQ QL OFDEQ 'K DBKBO>

5EBK TB TOFQB >K FKBNR>IFQV PVJ?LI TFQE > IFKB RKABOFRQJBR@E »R.Q: = b 5B

OB>A Q&EFP IBPP QE>K LO BWRPLQEC TB MRQ > PI>PE QEOLRDE >K-BRRIIBPHIKKLQ BNR>|

5 B PRJJ>OFWB QEB PVJ?LIP LC BNR>IFQV >KA FKBNR>IFQV FK QEB Q>7?IB ?BILT

Algebraic Notation Say

a=~> a FP BNR>IQL

a#b a FP KLQ BNRAI QL

a b a FP IBPP QE>K

a b a FP DOB>QB® QE>K

a<b a FP IBPP QE>K LO BNR>I QL
a>b a FP DOB>QBO QE>K L® BNR>I QL

2EB PVJ?LIP >KA B>@E E>SB > PJ>|IBO PFABBH&RPABO
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PJ>11BO PFAB OBO PFAB
I>OBO PFAB PJ>IIBO PFAB

2EB PJ>IIBO PFAB LC QEB PVJ?LI C>@BP QEB PJ>II1BO KBBEBD- &R IS ¥RI?BO

20>KPI>QB COLJ >IDB?0> QL TLOAP

> 20< 35
? 11#15-3
@9 102
A xz+2 10
Solution
>
20 < 35

FP IBPP QE>K LO BNR3I QL

?
11+£15—3
FP KLQ BNR>I QL JFKRP

@
9 102
FP DOB>QBO QE>K AFSHABA ?V

A

r+2 10
2 MIRP FP IBPP QERK
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20>KPI>QB COLJ >IDB?0> QL TLOAP

> 14 < 27
? 19-2#8
@12 4 +2
Ax—T7
1ELT KPTBO
> CLROQBBK FP IBPP QE>K LO BNR>I QL QTBKQV PBSBK
? KFKBQBBK JFKRP QTL FP KLQ BNR>I QL BFDEQ
@ QTBISB FP DOB>QBO QE>K CLRO AFSFABA ?V QTL
A DJFKRP PBSBK FP IBPP QE>K LKB

20>KPI>QB COLJ >IDB?0> QL TLOAP

> 19>15
? 7T=12-5
@15+3 8
Ay—3 6
1ELT KPTBO
> KFKBQBBK FP DOB>QBO QE>K LO BNR>I QL CFCQBBK
? PBSBK FP BNR>I QL QTBISB JFKRP CFSB
@ CFCQBBK AFSFABA ?V QEOBB FP IBPP QE>K BFDEQ
A EJFKRP QEOBB FP DOB>QBO QE>K PFU

#6 +.%#

2EB FKCLOJ>QFBKRBPROB@LIM>0OBP QEB CRBI B@LKLJV FRIABPIMBOLC PBSBO>| @HQB BEB
>MMOLMOF>QB &uiitidl, =, ,or FKB>@E BUMOBPPFLK QL @LJM>0B QEB CRBIB@LKLJV L

" QEB @

@OBAFQ JLAFCF@>QFLK LC TLOH ?V BOK¥bBIkIBAR?HQH KP
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53A%

> +.9% LC .OFRP=====
? +.% LC 4BOP>=====
@ +.% LC +FKF ILLMBO=====
A +.%LCILOLII>=====
B +.% LCILOLIlI>=====

Solution

+.% LC +FKF 'LLMBO
+.% LC $FQ

+.9% LC $FQ

+.% LCRBOP>
+.% LC .OFRP

+.% LC .OFRP====+.% LC +FKF !LLMBO

$FKA QEB S>IRBP FK QEB @E>0Q

ILIM>0B

+.% LC .OFRP +.% LC +FKF ILLMBO

+.% LC 4BOP>====+.% LC $FQ

$FKA QEB S>IRBP FK QEB @E>0Q

ILIM>0B

+.% LC 4BOP> +.9% LC $FQ

@

+.% LC +FKF ILLMBO====+.% LC $FQ

$FKA QEB S>IRBP FK QEB @E>0Q

ILIM>0B

+.% LC +FKF ILLMBO +.% LC $FQ
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+.% LC ILOLII>====+.% LC BOP>

$FKA QEB S>IRBP FK QEB @E>0Q ====

ILIM>0B

+.% LC ILOLII> +.% LC 4BOP>

+.% LC ILOLII>====+.% LC .OFRP

$FKA QEB S>IRBP FK QEB @E>0Q ===

ILIM>0B

+.% LC ILOLII> +.% LC .OFRP

3PB$FDROML CFIl FK QEB >MMGUM®OH>eB | or

> +.% LC .OFRP=====+.% LB@P>
? +.% LC +FKF ILLMBO=====+.% LC ILOLII>
1ELT KPTBO

>
?
2072

3PB$FDROML CFIl FK QEB >MMGUMaF>e8 | or

> +.9% LC $FQ=====+% LC .OFRP
? +.%LC!LOLII>=====+.% LC $FQ
1ELT KPTBO

>
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%OLRMFKD PVJ?LIP FK >IDB?0> >0OB JR@E IFHB QEB @LJJ>P @LILKP >KA LQEBO MRK@QR>QF
I>KDR>DB 2EBV FKAF@>QB TEF@E BUMOBPPFLKP >0OB QL ?B HBMQ QLDBQEBO >KA PBM>0O>Q
2EB Q>7?IB ?BILT IFPQP QEOBB LC QEB JLPQ @LJJLKIV RPBA DOLRMFKD PVJ?LIP FK >IDB?0>

Common Grouping Symbols

M>OBKQEBPBP ()
20>@HBQP []
20>@BP {3

&BOB >OB PLJB BU>JMIBP LC BUMOBPPFLKP QE>Q FK@IRAB DBILRFAVIB &Y BAUMOBPPFLKP IFHE
QEBPB I>QBO FK QEFP PB@QFLK
8 (14 — 8) 21—-3[2+4(9 —8)] 24+{13 —2[1(6 — 5) + 4]}

*+4:/,? >68+99/549 '4* 7;/549

5E>Q FP QEBBBBK@B FK #KDIFPE ?BQTBBK > MEO>PB >KA > PBKQBK@B MEO>PB BUMOBPPB
QE>Q FP FK@LJIMIBQB ?V FQPBIC ?RQ > PBKQBK@B J>HBP > @LIJMIBQB PQ>QBJBKQ gORKKFKI
?RQ g2EB CLLQ?>1I MI>VBO T>P ORKKFKD SBOV C>PQh FP > PBKQBK@B PBKQBK@B E>P > PR?

'K>IDB?0> TB E2BB®??5;:2>KAL=A-@5;: K BUMOBPHFLIKHB > MEO>PB &BOB >0OB PLJB BU>JMIBP
BUMOBPPFLKP >KA ELT QEBV OBI>QB QL TLOA MEO>PBP

Expression Words Phrase

3+5 3plus b QEB PRJ LC QEOBB >KA CFSB
n—1 n JFKRP LKB QEB ABDBK @B +KA LKB

6-7 6 times 7 QEB MOLAR@Q LC PFU >KA PBSBK
X

v x AFSFABARV QEB NRLQFBKEKIAG

LQF@B QE>Q QEB MEO>PBP AL KLQ CLOJ > @LJMIBQB PBKQBK@B ?B@>RPB QEB MEO>PB ALB
BNR>QFKQTL BUMOBPPFLKP IFKHBA TFQE >K BNR>I PFDK 5EBK VLR OB>A QEB TLOAP QEB PV
>K BNR>QFLK VLR E>SB > @LIJMIBQB PBKQBK@B FK #KDIFPE 2EB BNR>| PFDK DFSBP QEB SBO
BU>JMIBP LC BNR>QFLKP
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Equation Sentence

3+5=28 2EB PRJ LC QEOBB >KA CFSB FP BNR>I1 QL BFDEQ
n—1=14 71 JFKRP LKB BNR>IP CLROQBBK

6.7 =42 2EB MOLAR@Q LC PFU >KA PBSBK FP BNR>I QL CLOQV QTL
T =53 2 FP BNR>I QL CFCQV QEOBB

y+9=2y—3 1y MIRP KFKB FP BNR>hQIFRRP QEOBB

#UMOBPPFLKP >KA #NR>QFLKP

K BUMOBPPFLK FP > KR$2B5>?IB LO > @LJ?FK>QFLK LC KRJ?BOP >KA S>0OF>?IBP >KA LMBO>*»QFLK P
K BNR>QFLK FP J>AB RM LC QTL BUMOBPPFLKP @LKKB@QBA ?V >K BNR>I PFDK

"BQBOJFKB FC B>@E FP >K BUMOBPPFLK LO >K BNR>QFLK

> 16 —6 =10

? 4-2+1

@ x 25

A y+8=40
Solution

> 16 — 6 = 10 | 2EFP FP >K BNR>QFLKfQTL BUMOBPPFLKP >0B @LKKB@QBA TFQE >K BNR>| PFDK

24-2+1 2EFP FP >K BUMOBPPFLKfKL BNR>| PFDK

@r = 25 2EFP FP >K BUMOBPPFLKfKL BNR>I PFDK

Ay + 8 =40 | 2EFP FP >K BNR>QFLKfQTL BUMOBPPFLKP >0OB @LKKB@QBA TFQE >K BNR>| PFDK

"BQBOJFKB FC B>@E FP >K BUMOBPPFLK LO >K BNR>QFLK
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> 23+6=29
?2 7-3-7
1ELT KPTBO

> BNR>QFLK
? BUMOBPPFLK

2072

"BQBOJFKB FC B>@E FP >K BUMOBPPFLK LO >K BNR>QFLK

> y+14
? r—06=21
1ELT KPTBO

> BUMOBPPFLK
? BNR>QFLK

1/362/,? >68+99/549 =/:. >654+4:9

2L PFIMIFCV > KRIBOF@>| BUMOBPPFLK JB>KP QL AL >Il QEB J>QE MLPPF?IB4$LDBU>IMIB QL |
TBjA CFOPQ JRIQFYMQL DBQKA QEBK >AA QEBBQ DLLA E>?FQ QL ABSBILM FP QL TLOH ALTK QE
M>DB TOFQFKD B>@E PQBM LC QEB MOL@BPP ?BILT QEB MOBSFLRP PQBM 2EB BU>JMIB GRP!
IFHB QEFP

4-241

841

9

1RMMLPB TB E>SB QEB BUMOBPPFLK2 -2 -2 -2 -2 5 B @LRIA TOFQB QEFP JLOB @LIM>@QIV RP
BUMLKBKQF>I KLQ>QFLK #UMLKBKQF>I KLQ>QFLK FP RPBA FK >IDB?0> QL OBMOBPBKQ > NR>|
PBSBO>| QFJBFTOFQB2 - 2>P23 >KA -2-2-2.2.2.2.2.2>P29 'K BUMOBPPFLKP PR@E >P
QEBFP @>IIBA QEB ?>PB $KR @EHBA QEB BUMLKBKQ 2EB BUMLKBKQ QBIIP RP ELT J>KV C>@Q
?>PB TB E>SB QL JRIQFMIV

means multiply three factors of 2

5 B P>23 FP FK BUMLKBKQF>I KL>QFLXEKAK BUM>KABA KLQ>QFLK
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#UMLKBKQF>I ,LQ>QFLK

$LO >KV BUMOBRPRLRP > C>@QLO JRIQFMIFBA QVIBPABEP > MLPFQFSB FKQBDBO
ameans multiply n factors of a

2EB BUMOBP®FER OBzQL QER"” MLTBO

$LO MLTBORL€ 2 >KAn = 3 TB E>SB PMB@F>I K>JBP

a®is read as”a squared”

a3 is read as”a cubed”

2EB Q>?1B ?BILT IFPQP PLJB BU>JMIBP LC BUMOBPPFLKP TOFQQBK FK BUMLKBKQF>I KLQ>QF

Exponential Notation In Words

72 7 QL QEB PB@LKA MITTBRR>OBA
53 5 QL QEB QEFOA MIBTBB?BA

94 9 QL QEB CLROQE MLTBO

125 12 QL QEB CFCQE MLTBO

5 OFQB B>@E BUMOBPPFLK FK BUMLKBKQF>I CLOJ
> 16-16-16-16-16-16 - 16
?2 9-9-9.9.9
Aag-a-a-a-a-a-a-a

Solution
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> 2EB?>PB FP >C>@QLO QFJBP 167
2 2EB?>PB FP >C>@QLO QFJBP 9°
@ 2EB ?>REP >C>@QLO QFJBP x4
A 2EB ?>RBFP >C>@QLO QFJBP a®

5 OFQB B>@E BUMOBPPFLK FK BUMLKBKQF>I CLOJ
41-41-41-41-41
1ELT KPTBO

5 OFQB B>@E BUMOBPPFLK FK BUMLKBKQF>I CLOJ
-T-T-0-7-7-7-7-7
1ELT KPTBO

#6 +.%#

5 OFQB B>@E BUMLKBKQF>I BUMOBPPFLK FK BUM>KABA CLOJ

> &6

2 2P

Solution _
> 2EB ?>PB$PKA QEB BUMLKBKRLEPIB>KFR - 8 - 8 - 8- 8 - 8

? 2EB ?>PBEPKA QEB BUMLKBI@_F‘?’JB>KF?I: ‘LT T




"6) 7)) %1+8%+)2* /+)&5 %

5 OFQB B>@E BUMLKBKQF>I BUMOBPPFLK FK BUM>KABA CLOJ
> 48

2 af

1ELT KPTBO
> 4-4.-4-4-4-4-4.4

? a-a-a-a-a-a-a

207 '2

5 OFQB B>@E BUMLKBKQF>I BUMOBPPFLK FK BUM>KABA CLOJ

> &8
2 b
1ELT KPTBO

2 b-b-b-b-b-0b

2L PFIMIFCV >K BUMLKBKQF>| BUMOBPPFLK TFQELRUERRBRQB-RQ-F&BHPELKABA CLOJ >KA Q
JRIQFMIV QEB C>@QLOP

1FIMIFCR*
Solution
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34
#UM>KA QEB BUMOBPPFLK 3:-3-3-3
+RIQFMIV IBCQ QL OFDEQ 9.-3-3
27 -3
+RIQFMIV 81
1FIMIFCV
> 53
?2 17
1ELT KPTBO

>
?
2072

1FIMIFCV
> 72
2 (P
1ELT KPTBO

>
?

1/362/,? >68+99/549 #9/4- .+ 8*+85, 6+8 '/549

5 BjSB FKQOLAR@BA JLPQ LC QEB PVJ?LIP >KA KLQ>QFLK RPBA FK >IDB?0> ?RQEBABIB KBBA (



"6) 7)) %1+8%+)2* /+)&5 %

LC LMBO>QFRREBOTFPB BUMOBPPFLKP J8BBEBRABSKFKDP >KA QEBV J>VCOBPBHQFK AFC
S>IRBP

$LO BU>JMIB @LKPFABO QEB BUMOBPPFLK

g(j—mi sZudents say it simplifies to 49. Some students say it simplifies to 25.
443-7 443-7
Since 4 + 3 gives 7. 7.7 Since 3 - 7is 21. 4+ 21
And 7 - 7is 49. 49 And 21 + 4 makes 25. 25

'J>DFKB QEB @LKCRPFLK QE>Q @LRIA OBPRIQ FC BSBOVGBUEKE) E+0PBIBO>KAHBOP 2EB
BUMOBPPFLK PELRIA DFSB QEB P>JB OBPRIQ 1L J>QEBJ>QF@F>KP BPQ>?IFPEBA PLJB DRFA
LMBO>QFLKP TEF@E LRQIFKBP QEB LOABO FK TEF@E M>0QP LC >K BUMOBPPFLK JRPQ ?B |

-OABO LC -MBO>QFLKP

5EBK PFIMIFCVFKD J>QEBJ>QF@>1 BUMOBPPFLKP MBOCLOJ QEB LMBO>QFLKP FK QEB CLIILTFKD LO
P>OBKQEBPBP >KA LQEBO %OLRMFKD 1VJ?LIP

] 1RFIMIFCV >l BUMOBPPFLKP FKPFAB QEB M>OBKQEBPBP LO LQEBO DOLRMFKD PVJPLIP TLC
M>OBKQEBPBP CFOPQ

EUMLKBKQP

] 1RIMIFCV >l BUMOBPPFLKP TFQE BUMLKBKQP
MRIQFMIF@>QHRMRSHRALK

] .BOCLOJ >1l JRIQFMIF@>QFLK >KA AFSFPFLK FK LOABO COLJ IBCQ QL OFDEQ 2EBPB LMBO>
MOFLOFQV

AAAFQFLK SR2Q0>@QFLK

] .BOCLOJ >ll >AAFQFLK >KA PR?QO>@QFLK FK LOABO COLJ IBCQ QL OFDEQ 2EBPB LMBO>Q

1QRABKQP LCQBK >PH g&LT TFIl ' OBJBJ?BO QEB LOABO h &BOB FP > T>V Q:HEB YEBLEGFORIB IBOQBD
LC B>@E HBV TLOA >KA PR?PQFQRQB QEB PFIIV MEO>PB

PIB>PBEU@RRB/DB>@RKS>IIV

PIB>PB P>OBKQEBPBP

EU@RPB EUMLKBKQP

MVDB>O M RIQFMIF @>QFRSFRELK
ARKG>IIV AAAFQFLK SRAQO>@QFLK

'QP DLLA QEMY DB>[DLBP QLDBQEBUEFP OBJFKAP RRIQEMIF @>QRIFSFRALK E>SB BNR>I MOFLOFQV
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5 B AL KLQ >IT>VP AL JRIQFMIF@>QFLK ?BCLOB AFSFPFLK LO >IT>VP AL AFSFPB.KI?BEBOBKRIQFMIF@>

LOABO COLJ IBCQ QL OFDEQ

1FJFI>OIMRKS>I1Vj DLBP QLDBQEBO >KA PL OBJRAANFEAPLBERZQO>@QFLK >IPL E>SB BNR>I M
TB AL QEBJ FK LOABO COLJ IBCQ QL OFDEQ

OFLOFQV :

1FIMIFCV QEB BUMOBPPFLKP

> 44+3-7
? 443)-7

Solution

OB QEBOB pKOBKQEBPBP L

OB QEBOB elMLKBKQP L

'P QEBOB HIRIQFMIF@>QFSEEELIBR

+RIQFMIV CFOPQ

AA

OB QEBOB pKOBKQEBPBP 7

1FIMIFCV FKPFAB QEB M>OBKQEBP

B3P

OB QEBOB ellMLKBKQP L

'P QEBOB MRIQFMIF@>QHSEPBLIBH

+RIQFMIV
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1FIMIFCV QEB BUMOBPPFLKP
> 12—5.2
? (12-5)-2

1ELT KPTBO

| -\JV

2072

1FIMIFCV QEB BUMOBPPFLKP

> 8+3-9
? (8+3)-9
1ELT KPTBO

#6 +.%#

| .OV

1FIMIFCV
> 18+9-2
? 18-9+-2

Solution
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OB QEBOB pKOBKQEBPBP L

OB QEBOB elMLKBKQP L
'P QEBOB rRIQFMIF@>QHSEPELIBR
+RIQFMIV >KA AFSFAB COLJ IBCQ QL QFDEQ "FSFAB

+RIQFMIV

OB QEBOB pKUBKQEBPBP ,L

OB QEBOB allMLKBKQP L
'P QEBOB MRIQFMIF@>QHSFPBLIBH
+RIQFMIV >KA AFSFAB COLJ IBCQ QL OFDEQ

+RIQFMIV

"FSFAB

207 '2

1FIMIFCV
42 +7-3
1ELT KPTBO

2072

1FIMIFCV
12-3+4
1ELT KPTBO
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1IFIMIFCY8 =6 + 4 (5 — 2)
Solution

>OBKQEBPHP PR?Q0>@Q CFOPQ

#UMLKBKQP L

+RIQFMIF@>QFLK LO ABSFPFLK 7

"FSFAB CFOPQ ?B@>RPB TB JRIQFMIV >KA AF$FAB IBCQ QL OFDEQ

KV LQEBO JRIQFMIF@>QFLK LOBRFSFPFLK 7
+RIQFMIV

KV LQEBO JRIQFMIF@>QFLK LO AFSFPFLK L
KV >AAFQFLK LO PR?QOB@QFLK 7

207 '2

1FIMIFCV
30+ 5410(3 —2)
1ELT KPTBO

2072

1FIMIFCV
70+ 10 +4 (6 — 2)
1ELT KPTBO

SEBK QEBOB >0OB JRIQFMIB DOLRMFKD PVJ?LIP TB PFIMIFCV QEB FKKBOJLPQ M>OBKQEBPB
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Simplify: 5 + 23 4+ 3[6 — 3 (4 — 2)]
Solution

OB QEBOB >KV M>0OBKQEBPBP LO LQEBO DOBRMFKD PVJ?LI 7

$L@RP LK QEB M>OBKQEBPBP QE>Q >OB FKPFAB QEB ?D>@HBQP
1R?Q0>@Q

ILKQFKRB FKPFAB QEB ?0>@HBQP >KA JRIQFMIV

ILKQFKRB FKPFAB QEB ?0>@HBQP >KA PR?Q0>@Q

2EB BUMOBPPFLK FKPFAB QEB ?0>@HBQP OBNRFOBP KL CROQEBO PFIMIFCF@>QFLK
OB QEBOB >KV BUMLKBKQP 7

1FIMIFCV BUMLKBKQP

'P QEBOB >KV JRIQFMIF@>QFLK IEPAFSFPFLK 7

+RIQFMIV

‘P QEBOB >KV >AAFQFLK LO PRBRO>@QFLK 7

AA

AA

2072

1FIMIFCV
9+53—[4(9+3)]
1ELT KPTBO




"6) 7)) %1+8%+)2* /+)&5 %

1FIMIFCV
7> —2[4(5+1)]
1ELT KPTBO

#6 +.4#

1FIMIFC® + 3% =3 — 52
Solution

'C >K BUMOBPPFLK E>P PBSBO>| BUMLKBKQP QEBYV J>V ?B PFIM|FCFBA FK QEB P>JB PQBM

1FIMIFCV BUMLKBKQP

"FSFAB

AA
1R?Q0>@Q

1FIMIFCV
3249249443
1ELT KPTBO

1FIMIFCV
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62 — 5% =5+ 82
1ELT KPTBO

N#11 "2'-, * - > # O#1-301#1

-OABO LC -MBO>QFLKP

-OABO LC -MBO>QFLKP e 2EB >PF@P

#U #S>IR>QB >K #UMOBPPFELK 3PFKD QEB -OABO LC -MBO>QFLKP
#U>JMIB #S>IR>QB >K #UMOBPPFLK 3PFKD 2EB -OABO LC -MBO>QFLKP

]
]
]
]

+? 54)+6:9
Operation Notation Say: The result isE
AAFQFLK |a+b a plus b QEB PRJ tGKAb

+RIQFMIF@3QFLK, (a) (b), (a)b,a (b) | atimesb | 2EB MOLAR@GQKE

1R?QO>@QRLK— b aminusb | QEB ABDBK@BHD

"FSFPFLK | a +b,a/b, 7,b)a a AFSFABAIRYV2EB NRLQFBKQ-KBh

] Equality Symbol

r a = b FP OB>AcHP BNR>IQL

r 2EB PVJ?LE FP @>11BA QEB BNR>| PFDK
] Inequality

r a bFP OBaA&P IBPP QE>K

r a FP QL QEB IBA® IZEB KRJ?BO IFKB

r a bFP OBzAP DOB>QB® QE>K
r a FP QL QEB OFDEQQEB KRJ?BO IFKB


http://openstaxcollege.org/l/24orderoperate
http://openstaxcollege.org/l/24orderbasic
http://openstaxcollege.org/l/24Evalexpress
http://openstaxcollege.org/l/24evalexpress3

"6) 7)) %1+8%+)2* /+)&5 %

Algebraic Notation | Say

a=2> a FP BNR>IQL

a#b a FP KLQ BNRbI QL

a b a FP IBPP QIE>K

a b a FP DOB>QB® QE>K

a<b a FP IBPP QE>K LO BNR>| QL
a>b a FP DOB>QBO QE>K L® BNR>| QL

] Exponential Notation
r $LO >KV BUMOBFPFRE C>@QLO JRIQFMIFBAQNIBRPBEP > MLPFQFSB FKQBDI
r a" JB>KP JRIQFMIZ>@QLOP LC

r 2EB BUMOBPPRIKFECOBaQL Q&EBh MLTBO

Order of Operations 5EBK PFIMIFCVFKD J>QEBJ>QF@>| BUMOBPPFLKP MBOCLOJ QEB LMBO>Q
CLIILTFKD LOABO

] .>OBKQEBPBP >KA LQEBO %OLRMFKD 1VJ?LIP 1FIMIFCV >l BUMOBPPFLKP FKPFAB C
LQEBO DOLRMFKD PVJ?LIP TLOHFKD LK QEB FKKBOJLPQ M>OBKQEBPBP CFOPQ
] #UMLKBKQP 1FJMIFCV >l BUMOBPPFLKP TFQE BUMLKBKQP

] tRIQFMIF@>QFLK >KA "FSFPFLK .BOCLOJ >Il JRIQFMIF@>QFLK >KA AFSFPFLK FK LO/
2EBPB LMBO>QFLKP E>SB BNR>I MOFLOFQV

] AAFQFLK >KA 1R?QO>@QFLK .BOCLOJ >Il >AAFQFLK >KA PR?QO>@QFLK FK LOABO (
LMBO>QFLKP E>SB BNR>| MOFLOFQV

2599'8?

expressions
K BUMOBPPFLK FP > KR$2BB5>?IB LO > @LJ?FK>QFLK LC KRJ?BOP >KA S>0OF>?IBP >KA LMBO>QFL
equation
K BNR>QFLK FP J>AB RM LC QTL BUMOBPPFLKP @LKKB@QBA ?V >K BNR>| PFDK
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8"+ 'L +9 +8,+):

#9+ $'8/'(2+9 '4* 2-+(8 /) 1?3(529

'K QEB CLIILTFKD BUBO@FPBP QO>KPI>QB COLJ >IDB?0>F@ KLQ>QFLK QL TLOAP

16 -9 25 -7
5-6 3-9

28 -4 45+ 5
r+38 r+11
(2) (7) (4) (8)
14 21 17 35
36 > 19 42 > 27
3n =24 6n = 36
y—1 6 y—4 8
2<18+6 3<20+4
a#7-4 a#1-12

*+4:/,? >68+99/549 '4* 7;":/549

'K QEB CLIILTFKD BUBO@FPBP ABQBOJFKB FC B>@E FP >K BUMOBPPFLK LO >K BNR>QFLK

9-6 =54 7-9=63
o-4+3 6-3+95
x+7 z+9
y—>5=25 y—8=32

1/362/,? >68+99/549 =/.. >654+4:9

'K QEB CLIILTFKD BUBO@FPBP TOFQB FK BUMLKBKQF>I CLOJ

3:3-3-3-3-3-3

4-4-4-4-4-4

'K QEB CLIILTFKD BUBO@FPBP TOFQB FK BUM>KABA CLOJ




"6) 7))

%1+8%+)2* [+)&5 %

53 ]3
28 105
11362/,? >68+99/549 #9/4- .+ 8*+8 5, 6+8 /549
'K QEB CLIILTFKD BUBO@FPBP PFJMIFCV
>34+ 8-5 >246-3
?(3+8) -5 ?(2+6) - 3

2 — 12+ (9 —5)

32 18 = (11 —5)

3-8+5-2 4-7+3-5
24+8(6+1) 446(3+6)
4.12/8 2-36/6

6+ 10/2 +2 94 12/3 +4
(6+10) + (24 2) (9+12) + (3+4)
20+-4+4+6-5 33+3+8-2
20 = (4+6)-5 33+ (3+8)-2
42 4 52 32 4 72

(44 5)° (347)
3(1+9-6)—42 5(2+8-4)— 7
2[1 +3(10 — 2)] 5[2+4(3—2)]
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65. Basketball'K QEB MI>VLC CP QEB 1>K

PELTP QEB EBFDEQP LC QEB PQ>0QBOP LK B>
Q>?IB QL CFIl FK QEB >MMOLMOF>QB PVJ?LI

Spurs Height Heat Height
2FJ"RK@>K | 83" 0>PE>OA *BTFR2"
LOFP"F>T | 80 *B OLK (>JBP| 80"
)>TEF *BLK>OR79" IEOFP LPE |83/
2LKV .>0OHBO| 74" "TV>KB 5>AB| 76"
"SKKV %O0BBK 78" 0>V 1IBK 77"
> &BFDEQ LFJ 2RK@>K====&BFDEQ LC 05
*BTFP
? &BFDEQ LC LOFP "F>T====&BFDEQ LC
(>JBP
@ &BFDEQ LC )>TEF *BLK>0OA====&BFDE(
LPE
A &BFDEQ L&Y .>OHBO====&BFDEQ LC "
5 >AB
B &BFDEQ LC ">KKV %OBBK====&BFDEQ
IIBK

KQLKFL 1MROP ?B>Q QEB +F>JF &B>Q 2EB Q>;

66. Elevation'K ILILO>AL QEBOB >0B JLOB QE>K
JLRKQ>FKP TFQE >K BIBS>QFLK,I(00$89. 2EB
Q>?IB PELTP QEB QBK Q>IIBPQ 3PB QEFP Q>?I
>MMOLMOF>QB FKBNR>IFQV PVJ?LI

Elevation
14,433
14, 421/
14, 420/
14, 345’
14, 336/
334, 309
14, 294/
14, 286/
14, 270/
14, 269’

PIBlogitam

WE QB>J 3PB QR
’+QQ#|?BOQ ~

+Q +>PPFSB

+Q &>0S>0A

I>K@> .B>H

*> 1>Q> .B>H

3K@LIJM>EDOB .1

I0OBPQLKB .B>H

+Q *FK@LIK
PRSP B>H

BBLKRBOL

D LC IPOFRHBS>QFLK LC *> .I>Q> .B>H
+Q KQBOL

TV>KB? #IBS>QFLK LC I>K@> .B>H
#17BOQ

LC 0>\@ #IBS>QFLK LC 9BOB*H
*FK@LIK

A #IBS>QFLK LC +Q +>PPFSB
IOBPQLKB .B>H

B #IBS>QFLK LC +Q &>0S>0A
3K@LIM>EDOB .B>H

#IBS>Q

#IBS>OF

#IBS>QFLK L

#IBS>Q

#IBS>(

B QL CFII F

FLK LC

FLK LC +Q

~
N

+Q
FLKLC

DFLK LC

%8/:/4- > +8)/9+9

#UMI>FK QEBOEBK @B ?BQTBBK >K BUMOBP
BNR>QFLK

PFBEEY IR HQ FIMLOQ>KQ QL RPB QEB LOABO L
PFIMIFCV >K BUMOBPPFLK

C LMBO>Q!




49=+89
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JFKRP QEB AEBOBK@B LC
PFUQBBK >KA KFKB

QFJBP QEB MOLAR@Q LC CFSB\WSRABA ?V  QEB NRLQFBK

PFU

QTBKQV BFDEQ >KA CLRO

DMIRP QEB PRDEEA BFDEQ

QFJBP QEB MOLAR@Q LC (

PBSBK

PTL 2KR0OBBK FP IBPP QE>K QT

QEFOQV PFU FP DOB>QBO QE>K QEJBRRSBNR>IP  QEB MOL|
QL KFKBQBBK LC QEOBB >KA K BNR>IP QTBK(

A FKRP FP DOB>QBO QE>K
) K@B>K®a LKB FP DOB>Q
FU

FP IBPP QE>K LO BNR>I QL

- FP KLQ BNR>I QL QFJBP

AFSFABA ?V  FP IBPP QE>K LOKBNRBNR>I QL QEB MOLAR@Q IL.C FBEBIQRKK
QL QEB NRLQFBKQ LC BFDEQBBBLRQG\ PFU
BUMOBPPFLK BUMOBPPFLK BNR>QFLK
D
>
?
> ? =@ A B
KPTBO J>V S>0V
::8/(;:/549

2EFP @E>MQBO E>P ?BBK >A>MQBA COLJ g3PB QEB *>KDR2EE1 G- HMEILDHEK 2WKK

+>0B@BH +>0V KKB KQELKYV 1JFQE >KA KAOB> &LKBV@RQQ +>QEFP_TEF@E FP RKABO >

*F@BK@EMQBA ?V 'W>?BI> +ABBQEB LMVOFDEQ M>DB CLO JLOB FKCLOJ>QFLK


https://openstax.org/details/books/prealgebra-2e
https://creativecommons.org/licenses/by/4.0/
https://creativecommons.org/licenses/by/4.0/
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*B>0OKFKD -?GB@QFSBP

V QEB BKA LC QEFP PB@QFLK VLR TFII ?B >?I1B QL

] #S>IR>QB >IDB?0>F@ BUMOBPPFLKP

] 'ABKQFCV QBOJEF@EBEQP >KA IFHB QBOJP

] 1FIMIFCV BUMOBPPFLKP ?V @LJ?FKFKD IFHB QBOJP

] 20>KPI>QB TLOA MEO>PBP QL >IDB?0>F@ BUMOBPPFLKP

<2+ 2-+(8 '[) >68+99/549

'K QEB I>PQ PB@QFLK TB PFIMIFCFBA BUMOBPPFLKP RPFKD QEB LOABO LC LMBO>QFLKP 'k
BUMOBPPFLKPf>D>FK CLIILTFKD QEB LOABO LC LMBO>QFLKP

2L BS>IR>QB >K >IDB?0>F@ BUMOBPPFLK JB>KP QL CFKA QEB S>IRB L&SQEE'BBMOBPPFLK Tl
OBMI>@BA ?V > DFSBK RRBSBMR>QBtWMOBPPHERR?PQFQRQB QEB DFSBK KRJ?BO CLO QEB ¢
QEB BUMOBPPFLK >KA QEBK PFIMIFCV QEB BUMOBPPFLK RPFKD QEB LOABO LC LMBO>QFLK

#S>IR>QB+ 7 TEBK

> =23
? x=12
Solution

> 2 BS>IR>QB PR?PQEQBREBR QEB BUMOBPPFLK >KA QEBK PFIMIFCV

1R?PQFQRQB

AA

5EBKx = 3 QEB BUMOBRPFLKE>P > S>IRBI(C




! $2/) 80&)56 17)+)56 %1( 1752(8'7-21 72 /+)&5 %

2 2L BS>IR>QB PR?PRRQRIEK QEB BUMOBPPFLK >KA QEBK PFIMIFCV

1R?PQFQRQB

AA

5EBKzx = 12 QEB BUMOBRPFLKE>P > S>IRBIIC

LQF@B QE>Q TB DBQBG OBPRIQP CLO M>0OQP > >KA ? BSBK QELRDE TB PQ>0QBA TFQE QEB P>JB BL
?B@>RPB QEB S>IRBP RFBOBUEEDBKQ 5EBK TB BS>IR>QB >K BUMOBPPFLK QEB S>IRB S>OFBP ABMBK
S>IRB RPBA CLO QEB S>OF>?IB

2072

#S>IR>QB
Yy + 4 when
> Yy = 6
? y=15
1ELT KPTBO

>
?
207 '2

#S>IR>QB

a — D when
> =29
? a=17

1ELT KPTBO

>
?




99%/8%7) -03/-*< %1(! 16/%7)35)66-216

#S>IR>QB — 2, when

> =25
r=1

Solution
0BJBJ?Bub JB>KR: QFJIBP PLIYx IB>KF) QFJIBP

> 2 BS>IR>QB QEB BUMOBPRFEEKSTEBRR?PQFRRB >KA QEBK PFIMIFCV

+RIQFMIV

1R?Q0>@Q

? 2L BS>IR>QB QEB BUMOBPRFEKITEBHRR?PQFQBQB >KA QEBK PFIMIFCV

+RIQFMIV
1R?Q0>@Q

LQF@B QE>Q FK M>0Q > QEFQSTEKRGHQR>0Q ? TB IOLPA.QE QEB ALQ >KA QEB M>OBKQEBPBP QBI
QL JRIQFMIV

207 '2

#S>IR>QB

8x — 3, when
> x =2
? r=1

1ELT KPTBO

>
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#S>IR>QB

4y — 4, when
> Yy = 3
? y=95

1ELT KPTBO

#6 +.%#

| .\)V

#S>IR>QB TEBKz = 10

Solution
5 B PR?PQFQRQED >KA QEBK PFIMIFCV QEB BUMOBPPFLK

3PB QEB ABCFKFQFLK LC BUMLKBKQ

+RIQFMIV

5EBKz = 10 QEB BUMOBRPELR > S>IRBIIID)

2072

#S>IR>QB
22 whenz = 8
1ELT KPTBO




99%/8%7) -03/-*< %1(! 16/%7)35)66-216

#S>IR>QB
23 whenx = 6
1ELT KPTBO

#6 +.}#

Evaluate 2 whenz = 5

Solution
'K QEFP BUMOBPPFLK QEB S>0OF>?IB FP >K BUMLKBKQ

3PB QEB ABCFKFQFLK LC BUMLKBKQ

+RIQFMIV

5EBKz = 5 QEB BUMOBRPERR > S>IRBIXC

2072

#S>IR>QB
2% whenz = 6

1ELT KPTBO

2072

#S>IR>QB

3 whenz =4
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1ELT KPTBO

Evaluate 3x 4+ 4y — 6 whenx = 10and y = 2

Solution
2EFP BUMOBPPFLK @LKQ>FKP QTL S>OF>?IBP PL TB JRPQ J>HB QTL PR?PQFQRQFLKP

+RIQFMIV

AA >KA PR?Q0>@Q IBCQ QL OFDEQ

5EBKz = 10) >KAy = 2 QEB BUMOBBRFEKlY — 6 E>P > S>IRBIX

207 '2

#S>IR>QB
2 + 5y —4whenx =1landy = 3
1ELT KPTBO

2072

#S>IR>QB
5r — 2y — 9whenz = 7and y = 8
1ELT KPTBO
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Evaluate 222 + 3z + 8 when x = 4

Solution
5 B KBBA QL ?B @>0OBCRI TEBK >K BUMOBPPFLK E>P > S>0OF>?IB TFQE >K BL&M.%(EM@PK QEFH
2 - x - x >KA FP BBOBKQ COLJ QEB BL(IQ@&P]PEE@E JB>RP - 22

1FIMIFCM

+RIQFMIV

#S>IR>QB

322 + 42 + 1whenz = 3
1ELT KPTBO

#S>IR>QB
612 —4xr — 7Twhenz = 2

1ELT KPTBO

*+4:/,2" +839 5+B)/+4:9 '4* /1 +"+839

BUMOB

IDB?0>F@ BUMOBPPFLKP >OB@3ABRMBQLFP > @LKPQ>KQ LO QEB MOLAR@Q LC > @LKPQ>}

JLOB S>OF>?IBP 1LJB BU>JMIBP LC QBOIR%:0B, and 13zy
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2EB @LKPQ>KQ QE>Q JRIQFMIFBP QEB S>OF>?IB P FK >CJRDPBHE)E>KBPEDEB @1 BEB
@LBE@FBKQ >P QEBKRI@BRQEB S>OF>?IB 2EGR@MRKQ LC QEBRPBGEBK TB TOFQB

QEB @CB@FBK@PFR@B-= 1 - = 2EB Q>?IB ?BILT DFSBP QEEGBBBQP CLO B>@E LC QEB QBOJP FK
@LIRIK

Term Coefficient
7 7
) 1
52 5

K >IDB?0>F@ BUMOBPPFLK J>V @LKPFPQ LC LKB LO JLOB QBOJP >AABA LOFRTEIO>@QBA K (
LKIV TLOH TFQE QBOJP QE>Q >OB >A2ER QtBQBR® DFSBP PLJB BU>JMIBP LC >IDB?0>F@
BUMOBPPFLKP TFQE S>OFLRP KRJ?BOP LC QBOJP ,LQF@B QE>Q TB FK@IRAB QEB LMBO>QFL}

Expression Terms

7 7

Y Y

x+7 x, 7

20 + 7y +4 2¢, Ty, 4

322 + 42 + 5y + 3 322, 422, 5y, 3

'ABKQFCV B>@E QBOJ FK QEB)BUMIBPRFLK+ 6 2EBK FABKQFCV QERA®BEQ LC B>@E QBOJ

Solution
2EB BUMOBPPFLK E>P CLRO QBOIIR, DB 2 OBKAG

2EB @LBRFBKD EE)

2EB @LBROFBKGLEFAS

0BJBJ?BO QE>Q FC KL KRJ?BO FP TOFQQBK ?BCLOB ES@GBKIEEB @LBO FBKJ-EC
2EB @LBBA@FBKQ LC > @LKPQ>KQ FP QEB @ IH@QSBIGIHCQEB @LBC
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'ABKQFCV >l QBOJP FK QEB DFSBK BUMOBPRFL® FBKQQPEBFO @LBC
4o + 3b+ 2

1ELT KPTBO
2EB QBOJP >DB. >KA 2EB @QIB®@FBKQP >0B >KA

207 '2

'ABKQFCYV >l QBOJP FK QEB DFSBK BUMOBPRH® FBKQPEBFO @LBC
9a + 13a? + a?

1ELT KPTBO
2EB QBOJP >0OB - >KA 2EB @LBREQFBKQP >0OB >KA

1LJB QBOJP PE>OB @LJJILK QO>FQP *LLH >Q QEB CLIILTFKD QBOJP 5EF@E LKBP PBBJ QL E>
@LJJILK

5x,7,n%,4, 3z, 9n>
5EF@E LC QEBPB QBOJP >OB IFHB QBOJP

] 2EB QBOJIRKAL >OB ?LQE @LKPQ>KQ QBOJP
] 2EB QBOIR >KA3x >OB ?LQE QBOJR: TFQE
] 2EB QBOAR >KMn? ?LQE E>88

2BOJP >0OB @>IIBA IFHB QBOJP FC QEBV E>SB QEB P>JB S>0OF>?IBP >KA BUMLKBKQP |l @LKF
QBOJP 1L >JLKD QEB @BGJIR2, 4, 3z, 9n>

7 and 4 are like terms.

Hx and 3z are like terms.

n? and 9n? are like terms.

*FHB BOJP

2BOJP QE>Q >OB BFQEBO @LKPQ>KQP LO E>SB QEB P>JB S>OF>?IBP TFQE QEB P>JB BUMLKBKQP >C
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'ABKQFCV QEB IFHB QBOJP

> o3, 7x?, 14,23, 493, 9z, 52
? 4z2 + 2x + 522 + 62 + 402 + Szy

Solution
>3, 722,14, 23, 443, 9z, 522

*LLH >Q QEB S>OF>?IBP >KA BUMLKBKQP 2EB BUN®RPREL K G @QKIPKI>KQP
2EB QBOgPR >KAly> >OB IFHB QBOJP ?B@>RPB QERN ?LQE E>SB

2EB QBOTR? >KAHz:2 >OB IFHB QBOJP ?B@>RPB QEBY ?LQE E>SB

2EB QBOJIR >KA23 >0OB IFHB QBOJP ?B@>RPB QEBV >0OB ?LQE @LKPQ>KQP

2EB QBOX: ALBP KLQ E>SB >KV IFHB QBOJP FK QEFP IFPQ PFK@B KL LQEBD QERFEBARISBBERISFBE>?IB
LCL

? 42? + 22 + 522 + 62 + 40z + Sxy

*LLH >Q QEB S>OF>?IBP >KA BUMLKBKQP 2EB BUMOBPPFUi @2KQ5FKQEEIQBOIR Sy
2EB QBO4R2 >KA572 >OB IFHB QBOJP ?B@>RPB QERY ?LQE E>SB

2EB QBO2R, 67, and 40z >OB IFHB QBOJP ?B@>RPB QEBV >/l E>SB

2EB QB@Xky E>P KL IFHB QBOJP FK QEB DFSBK BUMOBPPFLK ?B@>RPB KL LQEBO QB@JP @LKQ>FK QEB

2072

'ABKQFCV QEB IFHB QBOJP FK QEB IFPQ LO QEB BUMOBPPFLK
9,223, 4%, 823,15, 9y, 11y?

1ELT KPTBO
D>KAD E >KA E

207 '2

'ABKQFCV QEB IFHB QBOJP FK QEB IFPQ LO QEB BUMOBPPFLK
Ax3 + 822 + 19 + 322 + 24 + 623

1ELT KPTBO
D>KAD D>AD >KA
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1/362/,? >68+99/549 (? 53(/4/4- /1 +"+839
5 B @>K PFIMIFCV >K BUMOBPPFLK ?V @HBRFEPQEBL VLR QEEKH 62 TLRIA PFIMIFCV
QL 'C VLR QELRBECLR TLRIA ?B OFDEQ

5B @>K PBB TEV QEFP TLOHP ?V TOFQFKD ?LQE QBOJP >P >AAFQFLK MOL?IBJP

AA QEBLBE@FBK@RBBM QEB P>JB S>OF>?IBQ'Q-Q@B®|TESR 'C VLR E33K PLIBQEFKD
>KA >AAJLOB LC QEB P>JB QEFKD QEBIUBBRE] KO BU>JMB>KDBP MIRO>KDBR)FP
LO>KDBPBSFIl AFP@RPP QEB J>QEBJ>QF@>| MOLMBOQFBP ?BEFKA QEFP 1>QBO

2EB BUMOBPRFLKG62 E>P LKIV QTL QBOJP 5EBK >K BUMOBPPFLK @LKQ>FKP JLOB QBOJP FQ
QL OB>00>KDB QEB QBOJP PL QE>Q IFHB QBBIBIRIB-QEBBQEBABOQV LC RAVRRIE-Q TB
@>K @E>KDB QEB LOABO LC >AABKAP TFQELRQ @E>KDFKD QEB PRJ 1L TB @LRIA OB>00>K
BUMOBPPFLK ?BCLOB @LJ?FKFKD IFHB QBOJP

LT FQ FP B>PFBO QL PBB QEB IFHB QBOJP QL ?B @LJ?FKBA

&-52 - ILJ?FKB IFHB QBOJP

'‘ABKQFCV IFHB QBOJP
0B>00>KDB QEB BUMOBPPFLK PL IFHB QBOJP >0OB QLDBQEBO
AA QEB @CB@FBKQP LC QEB IFHB QBOJP

1FIMIFCV QEB BUMGBPRFI K- 4 + 5
Solution
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'ABKQFCV QEB IFHB QBOJP

0B>00>KDB QEB BUMOBPPFLK PL QEB IFHB QBOJP >0OB QLDBQEBO

AA QEB @CB@FBKQP LC QEB IFHB QBOJP

2EB LOFDFK>I BUMOBPPFLK FP PFIMIFCFBA QLd

1FIMIFCV
T+94+9xr + 8
1ELT KPTBO

D
2072

1FIMIFCV

5y +2+8y+4y+5

1ELT KPTBO
E

1FIMIFCV QEB BUMOBPPELRx + 22 + 4z
Solution
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'"ABKQFCV QEB IFHB QBOJP

0B>00>KDB QEB BUMOBPPFLK PL IFHB QBOJP >0OB QLDBQIEBO

AA QEB @CB@FBKQP LC QEB IFHB QBOJP

2EBPB >0OB KLQ IFHB QBOJP >KA @>KKLQ 2B:8 13 7EXBRPIEK PFIMIBPQ CLOJ

2072

1FIMIFCV

322 4+ 9x + 2% + 5z

1ELT KPTBO
D D

207 '2

1FIMIFCV

1y* + 8y +y? + Ty

1ELT KPTBO
E E

"8492"+ % 58*9 :5 2-+(8 '/) >68+99/549

'K QEB MOBSFLRP PB@QFLK TB IFPQBA J>KV LMBO>QFLK PVJ?LIP QE>Q >0OB RPBA FK >IDB?(
BUMOBPPFLKP >KA BNR>QFLKP FKQL TLOA MEO>PBP >KA PBKQBK@BP ,LT TBjll OBSBOPB QI
TLOA MEO>PBP FKQL >IDB?0>F@ BUMOBPPFLKP 2EB PVJ?LIP >KA S>OF>?IBP TBjSB Q>IHBA:

QE>Q 2EBV >0B PRJJ>OFWBA FK QEB Q>?IB ?BILT
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Operation

Phrase

Expression

AAFQFLK

a MIRB

QEB PRJ uGKA

a FK@OB>PBA ?V
b JLOB QE=K
QEB QLQ=l KA

b >AABA QL

a—+b

1R?QO>@QFLK

a JFKR®

QEB ARDBK @B
b PR?QO>@QBA COLJ
a AB@OB>PHA ?V

b IBPP QE»K

+RIQFMIF@>QFLK

a QFJIBP
QEB MOLAR@<KLE

a-baba(b) (a)(d)

"FSFPFLK

a AFSFABARV

QEB NRLQFBKEKLE
QEB O>QRELK2D

b AFSFABA EKQL

a+ba/by bla

*LLH @ILPBIV >Q QEBPB MEO>PBP RPFKD QEB CLRO LMBO>QFLKP

] QEBPR2a-0 b

] QEB ABDBK&AB-0 b
] QEB MOLAR@Q® b

] QEB NRLQRRK®D b

#>@E MEO>PB QBIIP VLR QL LMBO>QB LK QTL KRJ?BOP ¢t :KAALDPEBFRAOGPB KRJ?BOP

Solution

the difference of 20 and 4
20 minus 4
20— 4

20>KPI>QB B>@E TLOA MEO>PB FKQL >K >IDB?0>F@ BUMOBPPFLK

> QEB ABDBK@H)LKAL
? QEB NRLQFBKQ A3

> 2EB HBV TLOASR1#1 TEF@E QBIIP RP QEB LMBO>QFLK FP PR?QO>@QF|2>KA-H CQLOGPRB. 1
QEB KRJ?BOP QL PR?Q0O>@Q

? 2EB HBV TLOARRD51TE&F@E QBIIP RP QEB LMBO>QFLK FP AFSFPFLK

[LOAP
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the quotient of 10x and 3

divide 10x by 3

10z =3

2EFP @>K >IPL ?B TOFI3RBR oP 102

207 '2

20>KPI>QB QEB DFSBK TLOA MEO>PB FKQL >K >IDB?0>F@ BUMOBPPFLK

> QEB ABDBK@EL&KALL
?  QEB NRLQFBKQKZ
1ELT KPTBO

> |
? Dk

207 '2

20>KPI>QB QEB DFSBK TLOA MEO>PB FKQL >K >IDB?0>F@ BUMOBPPFLK

> QEB PRJLZ>KALQ
?  QEB MOLAR@$KAC

1ELT KPTBO

>
? D

&LT LIA TFIl VLR ?B FK BFDEQ VB>OP 5E>Q >DB FP BFDEQ JLOB VB>OP QE>K VLR:DB KLT "
VLRO MOBPBKQ >DB;#E@QIB>KP BFDEQ >AABA QL VLRO MOBPBKQ >DB

&LT LIA TBOB VLR PBSBK VB>OP >DL 2EFP FP PBSBK VB>OP IBPP/QERKRYLRDGERBIKIIRO
MOBPBKQ >DB 8BEBE4B>KP PBSBK PR?QO>@QBA COLJ VLRO MOBPBKQ >DB
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20>KPI>QB B>@E TLOA MEO>PB FKQL >K >IDB?0>F@ BUMOBPPFLK

> #FDEQ JLOB QE>K
? 1BSBK IBPP QB>K
Solution
> 2EB HBV TLOAPIOB@4-:2EBV QBII RP QEB LMBO>QFLK'EP 2ADFQBEKP g>AABA QLh
FEight more than y
Eight added toy
y+8
2 2EB HBV TLOAPS0B @42EBV QBIl RP QEB LMBO>QFLK FRIPR2QOIBEPLIPR?QO>@QBA COL
Seven less than 9z

Seven subtracted from 9z
92 — 7

2072

20>KPI>QB B>@E TLOA MEO>PB FKQL >K >IDB?0>F@ BUMOBPPFLK

> #IBSBK JLOB QE>K
?  $LROQBBK IBPAQE>K

1ELT KPTBO

> D

2072

| -\)
1

20>KPI>QB B>@E TLOA MEO>PB FKQL >K >IDB?0>F@ BUMOBPPFLK

> 19 JLOB QE3K
? 21 IBPP QEXK

1ELT KPTBO

> 6




99%/8%7) -03/-*< %1(! 16/%7)35)66-216

20>KPI>QB B>@E TLOA MEO>PB FKQL >K >IDB?0>F@ BUMOBPPFLK

> CFSB QFJBP QEB PRINE
? QEB PRJ LC CFSBIQRIBR

Solution
> 2EBOB >0OB QTL LMBO>QFE%ITIBAP RP QL JRIQFVASSHRAIP RP QL >AA B@>RPB TB >0B JRIQFMIVFK
QFJBP QEB PRJ TB KBBA M>OBKQEBPBP >ORKKAAEB PRJ LC

CFSB QFJBP QEB RRIHA),

5(m +n)
2 2L Q>HB > PRJ TB ILLH CLO QER FK@AP QL PBB TE>Q FP ?BFKD >AABA &BOB TB >OB Q>HFKD QEB P
CFSB QFaBPKAN,

QEB PRJ LC CFSB1QRIB®

m+n
,LQF@B ELT QEB RPB LC M>OBKQEBPBP @E>KDBP QEB OBPRIQ 'K M>0Q > TB >AA CFOPQ >KA FK M:

20>KPI>QB QEB TLOA MEO>PB FKQL >K >IDB?0>F@ BUMOBPPFLK

> CLRO QFJBP QEB pPRKAE
? QEB PRJ LC CLROMFBP

1ELT KPTBO

> < =
<

?
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20>KPI>QB QEB TLOA MEO>PB FKQL >K >IDB?0>F@ BUMOBPPFLK

> QEB AIBDBK@B LC QTrQRiBB
? QTL QFJBP QEBABK@B 4 8

1ELT KPTBO
> DI
? DI

*>QBO FK QEFP @LROPB TBjll >MMIV LRO PHFIIP FK >IDB?0> GjlIFRPFEHID BRROQFPKP G>KPI>QF
> TLOA MEO>PB QL >K >IDB?0>F@ RJMKERPOLCEB @IB>0 >?LRQ TE>Q QEB BUMOBPPFLK TFIl O
5 Bjll PBB ELT QL AL QEFP FK QEB KBUQ QTL BU>JMIBP

#6 +.%#

2EB EBFDEQ LC > OB@Q>KDRIXOFK#EBP FBPP QE>K QEB TFABHECOBPBKQ QEB TFAQE LC QEB [TFKALT
5 OFQB >K BUMOBPPFLK CLO QEB EBFDEQ LC QEB TFKALT

Solution
5 OFQB > MEO>PB >?LRQ QEB EBFDEQ 6 IBPP QE>K QEB TFAQE
1R?PQFQRQBO QEB TFAQE 6 IBPP QEzK

0BTOFQB ilBPP QE>Kj >P iPR?Q0O>@QBA COLJj | 6 PR?QO>@QBAICOLJ

20>KPI>QB QEB MEO>PB FKQL >IDB?0> w— 6

2EB IBKDQE LC > OB@®FKEEBP IBPP QE>K QEB TFABEBOBPBKQ QEB TFAQE LC QEGFIE@®>KDIB 5
BUMOBPPFLK CLO QEB IBKDQE LC QEB OB@Q>KDIB

1ELT KPTBO
Cl
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2EB TFAQE LC > OB@Q@EDBBP DOB>QBO QE>K QEBIBHAINEPBEQ QEB IBKDQE LC QEFFQBEK]
BUMOBPPFLK CLO QEB TFAQE LC QEB OB@Q>KDIB

1ELT KPTBO

#6 +.%#

| m

*BQ; OBMOBPBKQ QEB KRJ?BO LCONRMOLQEBBIBPVEDBPPFLK CLO QEB KRJ?BO LC AFJBP
Solution

5 OFQB > MEO>PB >?LRQ QEB KRJ?BO LC AFJBF QTL IBPP QE>K CFSB QFJBP QEB KRJ?BO LC NR>0QBQ

1R?PQFQRT® QEB KRJ?BO LC NR>0OQBOP 2 IBPP QE>K CFSBQFJBP
20>KPI5RQ@®591p 2 IBPP QEXiK
20>KPI>QB QEB MEO>PB FKQL >IDB?0> oq — 2

207 '2

NR>OQBOR, €BBMOBPBKQ QEB KRJ?BO LODHRM®SBBIPVEDBPPFLK CLO QEB KRJ?BO LC AFJBP
1ELT KPTBO

*>ROBK E>P AFJBP >KA KF@HBIP FK EBO MROPB 2EB KRJ?BO LC AFJBP FP BFDEQ JLOB QE>K
KF@HBIP %#BOQBMOBPBKQ QEB KRJ?BO LOR®HBIBUMOBPPFLK CLO QEB KRJ?BO LC AFJBP

1ELT KPTBO

>KDIB ¢

I>K@> E>P AFJBP >KA NR>OQBOP FK EBO MROPB 2EB KBPBQESRFREPPEB KRJ?BO LC NR>DQBOP

%BLCOBV E>P AFJBP >KA NR>0OQBOP FK EFP ML@HBQ 2EB KRJ?BO LC AFJBP FP PBSBK IBPP QE>K PF

CLRO G
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N#11 "2'-, * - *' # 0#1-301#1

] IDB?0O>F@ #UMOBRRFELRRI>OV

+? 54)+6:9

] Combine like terms.

'ABKQFCV IFHB QBOJP
0B>00>KDB QEB BUMOBPPFLK PL IFHB QBOJP >0OB QLDBQEBO
AA QEB @CB@FBKQP LC QEB IFHB QBOJP

2599'8?

term
QBOJ FP > @LKPQ>KQ LO QEB MOLAR@Q LC > @LKPQ>KQ >KA LKB LO JLOB S>OF>?IBP
coefficient
2EB @LKPQ>KQ QE>Q JRIQFMIFBP QEB S>0OF>?IB P FK >CFEDRBHQ®@>1IBA QEB @LBC
like terms
2BOJP QE>Q >0B BFQEBO @LKPQ>KQP LO E>SB QEB P>JB S>0OF>?IBP TFQE QEB P>JB BUMLKBKQP >
evaluate
2L BS>IR>0QB >K >IDB?0>F@ BUMOBPPFLK JB>KP QL CFKA QEB S>IRB LC QEB BUMOBPPFIK TEBK QE
?V > DFSBK KRJ?BO

8Y):/)+ 'L +9 +8+):

<2+ 2-+(8 '/) >68+99/549

'K QEB CLIILTFKD BUBO@FPBP BS>IR>QB QEB BUMOBPPFLK CLO QEB DFSBK S>IRB


http://openstaxcollege.org/l/24AlgExpvocab
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Tr + 8 when z = 2

9 + 7Twhenx = 3

Sx —4whenx =6

8 —6whenx =7

22 when z = 12

r3whenz =5

2% when z = 2

¥ whenx = 3

3* whenz = 3

4 when z = 2

224+ 3x—7whenz =4

22+ 5x — 8whenx =6

2¢ + 4y —bwhenx =7,y =8

6x + 3y — 9whenx =6,y =9

(x —y)* whenz =10,y =7

(x4 1y)* whenz =6,y =9

a’ +b>whena =3,b=8

r2 — s>whenr =12,5 =5

2l + 2w whenl = 15, w = 12

2l + 2w when ! = 18, w = 14

*+4:/?" +839 5+ B)/+4:9 '4* /1 +"+839

'K QEB CLIILTFKD BUBO@FPBP IFPQ QEB QBOJP FK QEB DFSBK BUMOBPPFLK

1522 + 62 + 2

1122 +8x +5

10y +y + 2

93 +y+5

'K QEB CLIILTFKD BUBO@FPBP FABBR@®EBKIEBCA)FEDFSBK QBOJ

13m

512

623

'K QEB CLIILTFKD BUBO@FPBP FABKQFCV >l PBQP LC IFHB QBOJP

z3, 8z, 14,8y, 5, 823

62, 3w?, 1,622, 4z, w?

9a, a’, 16ab, 16b%, 4ab, 9b?

3,25r2,10s, 107, 42, 3s

1/362/,? >68+99/549 (? 53(/4/4- /1 +"+839

'K QEB CLIILTFKD BUBO@FPBP PFIMIFCV QEB DFSBK BUMOBPPFLK ?V @LJ?FKFKD IFHB QBO
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10z + 3z 15z 4 4x

17a + 9a 182 + 9z

e+ 2c+c 6y +4y + vy

9z + 3z + 8 8a+5a+9
Tu+2+3u+1 8d+64+2d+5
p+6+0op+4 8r+7+4x —5

10a +7+5a —2+T7a —4

Tc+4+6c—3+9c—1

322 + 122+ 11+ 1422 + 8z + 5

562 +9b+ 10 + 2b%> + 3b — 4

"8492"+ 4-2/9. .8 '9+9/4:5 2-+(8 ') >68+99/549

'K QEB CLIILTFKD BUBO@FPBP QO>KPI>QB QEB DFSBK TLOA MEO>PB FKQL >K >IDB?0>F@ BUN

2EB PRJLC >KA

2EBPRJLC >KA

2EB AFCBOBK@B LC >KA

IBPP QE>K

2EB MOLAR@Q LC >KA

2EB MOLAR@Q LC >KA

2EB NRLQFBKQ LC >KA

2EB NRLQFBKQ LC >KA

2EB AFCBOBK @B *KAl

3 IBPP QEPK

2EB MOLAR@G KAy

2EB MOLAR@® KAy

2EB PRJ LGz >KA3x

2EB PRJ LCl 3x >KA3x

2EB NRLQFBK@ £KA3

2EB NRLQFBKQ@ £KAS

#FDEQ QFJBP QEBABR @A KFKB

1BSBK QFJBP QEBBAFEK @A LKB

$FSB QFJBP QEB PRIy,

QFJBP CFSB IBPP QE»K QTF@B

'K QEB CLIILTFKD BUBO@FPBP TOFQB >K >IDB?0>F@ BUMOBPPFLK




99%/8%7) -03/-*< %1(! b16/%7)35)66-216

JLOB QE>K QEB ?ILRFPBOBMDBPBKQ QEB @LPQ

"
?ILRPB ®FQB >K BUMOBPPFLK CLO QEB @LP(Q CEIBMOBPBKQ QEB KRJ?BO LC

£2P OLOH >KA @I>PPFE@>| I'2X EFP [9>0
? ?
ABIB ?LRDEQ > PHFOQ >KA > 2ILRPB 2EB PH g% OL@H 1PIEB QE-K QEB KRI7BOLC

@I>PPF(

BUMOBPPFLK CLO QEB KRJ?BQ LC OL(

?LVP S0FQB >K BUMOBPPFLK CLO QEB KRJ?B0Q s©BEBIPK BUMOBPPFLK CLO QEB KRJ?BO LC

2EB KRJ?BO LC DFOIP FK > PB@QLKA D%IBP?bPPG@BID EXPCBTBO J>IB @LRPFKP QE>K CBJ>IB

QE>K QEB KRJ?BO LC ?I/MBBBQBPBKQ QEB KRITBIIRREKP FEIBMOBPBKQ QEB KRJ?BO LC CBJ>IB @LRF

7LV @LR

%0BD E>P KF@HBIP >KA MBKKFBP FK EFP ML @ B®KEBOB E>P >KA ?FIIP FK EBO T>IIBQ

LC KF@HBIP*88MOBPBKQ QEB KRJ?BO LOK
>K BUMOBPPFLK CLO QEB KRJ?BO LC MBKKFBPBUMOBPPFLK CLO QEB KRJ?BO LC CFSBP

2EB

KRJ?BO LC MBKKFBP FP PBSBK IBPP QE>K QTH@BJIPBBKRICBESBP FP QEOBB JLOB QE>K PFU QFJBP QE
1P *EIBMOBPBKQ QEB KRJ?BOARBBHKP| 5

<+8> ? .

'K QEB CLIILTFKD BUBO@FPBP RPB >IDB?0>F@ BUMOBPPFLKP QL PLISB QEB MOL?IBJ

'C (RPQFK CFIBP > @I>FJ CLO ELT JR@E

Car insurance (RPQPK@>0 FKPRO>K@B E>P > Home insurance.>J >KA OJ>KALP ELJB l ,
BE>P> ABAR@QF?IB MBO FK@FABKQ :
ABAR@QF?IB MBO FK@FABKQ 2EFP JB>KP QEp GEBY M>V  SKAGQEBFO FKPROIK@B
>KA EFP FKPRO>K@B @LJIM>KV TFIl M>V >II @L

1 M>V >l @LPQP ?BVLKA 'C.>J>KA

FIB > @I>FJ CLO ELT JR@QE TFIl QEBV
EB M>¥KA ELT JR@E TFIl EFP FKPRO>K@B @LJ %%g LT JR(gE TFIl QEBFO FKPROSD(@B @EJM>KV A

%8/:/4- > +8)/9+9

#UMI>FK TEV gQEB PRJIMG¥h FP QEB P>JB >P|gQEB

PRJ LE>KADh ?RQ gQEEBEBK@B-K2Eh FP KLQ | #UMI>FK QEBOEBK@B ?BOTBBKBP QEB PRJ]LC

QEB P>JB >P gQEB@BR@B-KEDh 20V PR?PQFQR@BKBy” >KA gQEB PRILQFIBE >KA,.”
QTL O>KALJ KRJ?BOR 6K@& QL EBIM VLR BUMISFK
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49=+89
D D EE
D D >KA
-. >KA -. . >KA. D i
/ D R
) - D D
|
k DI E
b D 3 £l
D E N
: &BTFIIM>V  &FP FKPRO>K(@B
! @LIM>KV TFIl M>V KPTBOP TFII S>OV
::8/(;:/549

2EFP @E>MQBO E>P ?BBK >A>MQBA COLJ g#S>K2»DBKEFIWB-EWMOBPPRLEKEE1 BK
“MBK1Q>U ?WKK +>0B@BH +>0V KKB KQELKV 1JFQE >KA KAOB> &LKBV@RQQ +>QEFP TEFG@
>l 7 *F@BK@B A>MQBA ?V 'W>?BI> +4ABRQEB LMVOFDEQ M>DB CLO JLOB FKCLOJ>QFLK



https://openstax.org/details/books/prealgebra-2e
https://creativecommons.org/licenses/by/4.0/

** 4% 1.8 Y. 4:+-+89

*B>0OKFKD -?GB@QFSBP

V QEB BKA LC QEFP PB@QFLK VLR TFII ?B >?IB QL

3PB KBD>QFSBP >KA LMMLPFQBP
1FIMIFCV BUMOBPPFLKP TFQE >?PLIRQB S>IRB
AA FKQBDBOP

]
]
]
] 1R?Q0>@Q FKQBDBOP

#9+ +-:/< +9'4* 6659/:+9

-RO TLOH PL C>0 E>P LKIV FK@IRABA QEB @LRKQFKD KRJ?BOP >KA QEB TELIB KRJ?BOP RC
BUMBOFBK@BA > QBJMBO>QROB ?BILT WBOL LO >@@FABKQ>IIV LSBOAO>TK VLRO @EB@H
C>JFIF>0 TFQE KBD>QF SBN¢RAfBORIMbers>OB KRJ?BOP IBP® QEBKBD>QFSB KRISBBRL

QEB IBCQ LC WBOL LK QEB KRJZFDERB 1BB

53Ax4 )41:A9.1>85:1?4;,C? @41 8;/-@5;: ;2 <;?5@5B1 -:0 :13-@5B1
:A9.1>7?

2EB >OO0LTP LK QEB BKAP LC QEB KRJ?BO IFKB FKAF@>QB QE>Q QEB KFRaBBBHR-ABBM DLFKD
?FDDBPQ MLPFQFSB-KRIZBBOB FP KL PJ>1IBPQ KBD>QFSB KRJ?BO

‘P WBOL > MLPFQFSB LO > KBD>QFSB KRJ?BBO,RE2BOR Bt >OB MLPFQFSB >KA KRJ?BOP PJ:
WBOL >0B KBD>QFSB 8BOL FP KBFQEBO MLPFQFSB KLO KBD>QFSB

ILKPFABO ELT KRJ?BOP >0OB LOABOBA LK QEB KRJ?BO IFKB %LFKD COLJ IBCQ QL OFDEQ QE
S>IRB %LFKD COLJ OFDEQ QL IBCQ QEB KRJ?BOP AB&HDIRHB FK S>IRB 1BB
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53A4 )41:A9.1>?;:-:A9.1>85:15:/> 1-?15: B-8A1 3;5:3;2:812@ @;
>534@ -:0 01521 5: B-8A1 3;5:3;2>534@ @; 812@

0BJBJ?BO QE>Q TB RPB QEB KLQ>QFLK
- . OB>Ag>FP IBPP QE>K ?h TEBK > FP QL QEB IBCQ LC ? LK QEB KRJ?BO IFKB
- . OB>A¢P DOB>QBOMEERK FP QL QEB OFDEQQEB KRJ?BO IFKB

LT TB KBBA QL BUQBKA QEB KRJ?BO IFKB TEF@E PELTBA QEB TELIB KRJ?BOP QL FK@IRAB KBL
QLL 2EB KRJ?BOP J>OHBA ?V MIFIRIPEGB @>IIBA QEB FKQBDBOP 2EB FKQBDBOP >OB QEB KR
—3,-2,-1,0,1,2,3

53A41 88 @41 9->710:A9.1>?1%8810 5:@131>7

-OABO B>@E LC QEB CLIILTFKD M>FOP LC KRJ?BOR4RPHKD 115=9 @—1===—4 A 2===20

Solution
'Q J>V ?B EBIMCRI QL OBCBO QL QEB KRJ?BO IFKB PELTK

> FP QL QEBOFDEQLC LK QEBKRJ)AB#HBI4 6

? | FPQLQEBIBCQLC LK QEBKRJ?BO-EBY —1 < 9

@ | FP QL QEB OFDEQ LC | LK QEB KR3I?BE=HFKS

A FPQLQEBOFDEQLCI| LK QEBKRX2BeHFRB2 —20




(( %1( B&7HN'7 17)+)56

-OABO B>@E LC QEB CLIILTFKD M>FOP LC KRJ?BOR RPEKD +&=5 @—3===7
A H===—17

1ELT >KPTBO
> 2?2 @ A

2072

-OABO B>@E LC QEB CLIILTFKD M>FOP LC KRJ?BORRREKD J=0=-4 @ —5===2
A 9===-21

1ELT >KPTBO
> ? @ A

7LR J>V E>SB KLQF@BA QEXRI?BQEBEEB KBD>QFSB KRJ?BOP >OB > JFOOLO FJ>DB LC QEB
KRJ?BOP TFQE WBOL FK QEB JFAAIB B@>RPB QERKRBEER PsKIB AFPQ>K@B COLJ WBOL (
>OB @>1IBA LMMPERQBIMLPFQB L& FRA QEB LMMLPFQBRC

-MMLPFQB

2EBoppositeLC > KRJ?BO FP QEB KRJ?BO QE>Q FP QEB P>JB AFPQ>K@B COLJ WBOL LK QEB KRJ?BO IF
LMMLPFQB PFAB LC WBOL

$FDROBFIIRPQO>QBP QEB ABCFKFQFLK

2EB LMMLPFQB LE3 FP

53A4

1LIBQFJBP FK >IDB?0> QEB P>JB PVJEEE@BRQ@BB>KFKDP (RPQ IFHB PLJB TLOAP FK #KDIFPE
PMB@FCF@ JB>KFKD ?B@LJIBP @IB>0 ?V ILLHFKD LiR)E+SEPBERK RFEBAPY J?LI glh RPBA FK QEC
AFCBOBKQ T>VP
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10—-4 Between two numbers, it indicates the operation of subtraction.
We read 10 — 4 as “10 minus 4.”
-8 In front of a number, it indicates a negative number.
We read — 8 as “negative eight.”
—T In front of a variable, it indicates the opposite. We read — = as “the opposite of x.”
—(-2) Here there are two “ — 7 signs. The one in the parentheses tells us the number is

negative 2. The one outside the parentheses tells us to take the opposite of — 2.
We read — (—2) as “the opposite of negative two.”

BQTBBK QTL KRJ?BOP FQ FKAF@>QBP QER@MB@SOFLK LC

10—4 5BOB>M) —4>Pg JFKRP h
_g 'K COLKQ LC > KRBZBEKAF @>138@58IRJ?BO
5 B OB>A| >P gKkBD>QFSB BFDEQ h
—x 'K COLKQ LC > S>OF>?IB FQ FkAF@EIBR QERAT >P gQEB LMMLPE®@B|LC

&BOB QEBOB >0B QTL glh PFDKP 2EB LKB FK QEB M>OBKQEBPBP QBIIP RP QEB
—(-2) KBD>QFSB 2EB LKB LRQPFAB QEB M>OBKQEBPBP<QBHERE QL Q>HB QEB
5 B OB>A (—2) >P gQEB LMMLPFQB LC KBD>QFSB QTL h

-MMLPFQB ,LQ>QFLK

—a JB>KP QEB LMMLPFQB LC QEB KRJ?BO
2EB KLQ>QFIKFP OB>A >P gQEB LMMLPFQB LC

$FKA > QEB LMMLPFQB LC ? QEB EMOI@FQBI60

Solution




—~

( %1( 8&73%'7 17)+)56

> | FP QEB P>JB AFPQ>K@B COLJ >P| ?RQ LK
QEB LMMLPFQB PFAB LC

2EB LMMLPFQB LC FP|

? FP QEB P>JB AFPQ>K@B COLJ >P| ?RQ
LK QEB LMMLPFQB PFAB LC

2EB LMMLPFQB LCI| FP

2EB LMMLPFQB LCII FPI

2072

$FKA > QEB LMMLPFQBLC ? QEB EMNRPFQBI)C

1ELT >KPTBO
>—4? @

207 '2

$FKA > QEB LMMLPFQB LC ? QEB ENINQPRQBESIC

1ELT >KPTBO
>—82 @

-RO TLOH TFQE LMMLPFQBP DFSBP RP > T>V QL ABCFKB QEB FKQBDBOP 2EB TELIB KRJ?BOP
@>1IBA QEB FKQBDBOP 2EB FKQBDBOP—-QB-QEBKRJPBDB
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'KQBDBOP

2EB TELIB KRJ?BOP >KA QEBFO LMMLPFQBmMt«€gBréd>11BA QEB
2EB FKQBDBOP >0B QEB KRJ?BOP
—~3,-2,-1,0,1,2,3

5EBK BS>IR>QFKD QEB LMMEPEEBABIRPQ ?B SBOV @>CTHEIRIRY) HKLTFKD TEBQEBO QEB

S>0F>?IB OBMOBPBKQP > MLPFQFSB LOHREKQFSRIKRIEBQEBEP MLPFQFSB LO KBB>QFSB 5
@>K PBB QEEP-FKIB

#S>IR>QB>7 TEBKr = 8 ? —x TEBKLZ = —3&
Solution

| D

5 OFQB QEB LMMLPFQB LC

5 OFQB QEB LMMLPFQB LC |

207 '2

#S>IR>QBn TEBK>n = 47?2 n = —4

1ELT >KPTBO
>—4?
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207 '2

#S>IR>QBM TEBK>m =112 m = —11

1ELT >KPTBO
>—117?

1/1362/,? >68+99/549 =/:. (952;:+$ '2;+

5 B P>T QE>Q KRJ?BOP RR@E >F2 >0OB LMMLPFQBP ?B@>RPB QEBV >0B QEB P>JB AFPQ>K@!
KRJ?BO IFKB 2EBV >0B ?LQE QTL RKFQP COLJ 2EB AFPQ>K@B ?BQTBBK >KA >KV KRJ?BO |
FP @>IIBAd@DE®&ute valueLC QE>Q KRJ?BO

?PLIRQB+RB

2EB >?PLIRQB S>IRB LC > KRJ?BO FP FQP AFPQ>K@B COLJ LK QEB KRJ?BO IFKB
2EB >?PLIRQB S>IRB LC > KRF?BOFQQB# >P

$LO BU>JMIB

] —5is5 RKFQP >T>V CORL| — 5| =5
] 5is5 RKFQP >T>V QORL|5| = 5

$FDROBFIIRPQO>QBP QEFP FAB>

2EB FKQBDB®A are 5 RKFQP >T>V GOLJ

53A4

2EB >?PLIRQB S>IRB LC > KRJ?BO FP KBSBO KBD>QFSB ?B@>RPB AFPQ>K@B @>KKLQ ?B KB
TFQE >?PLIRQB S>IRB BNR>I QL WBOL FP QEB KRJ?BO WBOL FQPBIC (2@ +RRBEBEB AFPQ>K
KRJ?BO IFKB FP WBOL RKFQP
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.OLMBOQV LC ?PLIRRB 4

In| > 0 CLO >Il KRJ?BOP
?PLIRQB S>IRBP >0B >IT>VP DOB>QBO QE>K LO BNR>I QL WBOL

+>QEBJ>QF@F>KP P>V FQ JLOBMBBIREBEBYIRBP >0B >IT>VP KLK KBD>QFSB h ,LK KBD>QFSB Ji

DOB>QBO QE>K LO BNR>I QL WBOL

#6 +.}#

1FIMIFCY (3| ? | — 44| @|0|
Solution

>?PLIRQB S>IRB FP KBSBO KBD>QFSB
> [3]

[

2 | — 44
44

@|0]
0

207 '2

1FIMIFCY |4 ? | — 28| @|0|

1ELT >KPTBO
> ? @

207 '2

1FIMIFCY | — 13| ? 47| @|0|

1ELT >KPTBO
> ? @

2EB >?PLIRQB S>IRB LC > KRJ?BO FP QEB AFPQ>K@B ?BQTBBK QEB KRJ?BO >KA WBOL "FPQ>K@B FP Ki



(( %1( B&7HN'7 17)+)56

'K QEB KBUQ BU>JMIB TBjll LOABO BUMOBPPFLKP TFQE >?PLIRQR BS(HEE FRIBBIHD>0B
>IT>VP DOB>QBO QE>K KBD>QFSB KRJ?BOP

$FIIFK  or = CLOB>@E LC QEB CLIILTFKD M>FOP LC KRJ?BOP
> | — 5|:::_ — 5| ? S8=—=| — 8|@—9:::_ — 9| A e—16=—=—| — ]_6|
Solution
[~ 5===q 5
> 1FIJMIFCV o
-OABO ===
| =5| e|—5]
? 1FIMIFCV ___
-OABO 8===¢ — 8|
e |8
=== e| — 9|
@ 1FIMIFCV —
-OABO
e |9
e(—16) ===d — 16|
A 1FIMIFCV B
-OABO
e(—16) e|— 16|

$FIl FK LG= CLO B>@E LC QEB CLIILTFKD M>FOP q_G-IQ:IZ:]ﬁ’-BpP9| ? 2===| — 2| @—8===
- 3|

A (~9===| —9

1ELT >KPTBO

> ? @ A
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207 '2

$FIIFK  LG= CLO B>@E LC QEB CLIILTFKD M>FOP [IERJI?BOP (—10===| — 10|
@| —dj===-| — 4| A —1==4 — 1|

1ELT >KPTBO

> ?2 @ A

5 B KLT >AA>?PLIRQB S>IRB ?>0OP QL LRO IFPQ LC DOLRMFKD PVJ?LIP S5EBK TB RPB QEB LOABC
CFOPQ TB PFIMIFCV FKPFAB QEB >?PLIRQB S>IRB ?>0P >P JR@E >P MHERARQB SIEIRHB Q>HB (
OBPRIQFKD KRJ?BO

Grouping Symbols

>OBKQEBPBP

O>@HBQP 9:
O>@BP XZ
?PLIRQB S>IRB YY

‘K QEB KBUQ BU>JMIB TB PFIMIFCV QEB BUMOBPPFLKP FKPFAB >?PLIRQB S>IRB ?>0OP CFOPQ !
M>OBKQEBPBP

1IFIMIFC¥4 — |19 — 3 (6 — 2) |
Solution

24 —119-3(6—2)|
5 LOH FKPFAB M>0OBKQEBPBP CFOPQ RR2he>{d% —<Bi(4) |
+RIQFMIV 24 — |19 — 12|

1R?Q0>@Q FKPFAB QEB >?PLIRQB S>IRE2%-6p|7|

2>HB QEB >?PLIRQB S>IRB 24 —7
1R?Q0O>@Q 17




(( %1( B&7HN'7 17)+)56

1IFIMIFCYY — |11 —4 (3 —1) |
1ELT >KPTBO

207 '2

1IFIMIFCY — |8 — 4 (7 — 5) |
1ELT >KPTBO

#6 +.%#

#S>IR>QB x| whenx = —35? | — y| wheny = —20 @—|u| when u = 12 A
—|p| when p = —14

Solution
> |z| when z = —35

2>HB QEB >?PLIRQB S>IR

[o9)

?| — y| wheny = —20

| =y

1FIMIFCV |20

2>HB QEB >?PLIRQB S>IRB

@—|u| whenu = 12




! $2/) 80&)56 17)+)56 %1( 1752(8'7-21 72 /+)&5 %

—|ul

2>HB QEB >?PLIRQB S>IRB-12

A—|p| whenp = —14

—|p|

2>HB QEB >?PLIRQB S>IRB— 14

207 '2

#S>IR>QB |*| when z = —17? | — y| wheny = —39 @—|m| when m = 22 A
—|p| whenp = —11

1ELT >KPTBO
>17? 39@—22A —11

#S>IR>QB |y| wheny = —23? | — y| wheny = —21 @—|n| whenn = 37A
—|g| when g = —49

1ELT >KPTBO
>23?221@—37A —49

*% 4:4-+89

+LPQ PQRABKQP >0B @LJCLOQ>?IB TFQE QEB >AAFQFLK >KA PR?Q0>@QFLK C>@QP CLO MLP
>AAFQFLK LO PR?QO>@QFLK TFQE ?LQE MLPFQFSB >KA KBD>QFSB KRJ?BOP J>V ?B JLOB @E>

5 B TFIl RPB QTL @LILRO @LRKQBOP QL JLABI >AAFQFLK >KA PR?QO>@QFLK LC KBD>QFSBP PL
QEB MOL@BAROBP FKPQB>A LC JBJLOFWFKD QEB ORIBP



(( %1( B&7N'T 17)+)56

5B IBQ LKB @LILRO ?IRB OBMOBPBKQ MLPFQFSB 2EB LQEBO @LILRO OBA TFII OBMOBPBK
LKB MLPFQFSB @LRKQBO >KA LKB KBREGESER® ILRKQE®M>FO FP WBOL 2EBV CLEEE KBRQO
S>IRB LC QEFP KBRQO>| M>FO FP WBOL

5 B TFIl RPB QEB @LRKQBOP QL PELT ELT QL >AA QEB CLRO >AAFQFLE C>@®PRPBKD QEB K
5+3 —5+ (—3) —5+3 5+ (—3)

2L >A% + 3 TB OB>IFWBRESIB>KP QEB PRILC >KA

5 B PQ>0Q TFQE MLPFQFSBP

KA QEBK TB >AA MLPFQFSBP

5B KLT E>SB MLPFQFSBP 2EB PRJLC >KA |FP

LT TB TFlIl >AA—5 + (—3) 5 >Q@E CLO PFJFI>OFQFBP QL QBEBH3PS BU>IMIB

2L >AA-5 + (—3) TB OB>IFWB QEFP JB>KP QEB 2RJ LC3

5 B PQ>0Q TFQE KBD>QFSBP

KA QEBK TB >AA KBD>QFSBP

5 BKLT E>SB KBD>QFSBP 2EB PRJLCI >KAI| FP I

'‘KTE>Q T>VP TBOB QEBPB CFOPQ QTL BU>JMIBP PFJFI>0O
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] 2EB CFOPQ BU>JMIB >AAP MLPFQFSBP >KA MLPFQFSBPf?LQE MLPFQFSBP
] 2EB PB@LKA BU>JMIB >AAP KBD>QFSBP >KA KBD>QFSBPf?LQE KBD>QFSBP

'KB>@E @>PB TB DLQ fBFQEBO MLPFQFSBP LO KBD>QFSBP

5EBK QEB PFDKP TBOB QEB P>JB QEB @LRKQBOP TBOBKAI R)EEEP>ARRAIQED.]

AA > 14472 —1+4 (—4)

Solution
>

<;?5@5B1 <8A? <;?5@5B1?5? <;?5@5B1?

:13-@5B1 <8A? :13-@5B1?5? :13-@5B17?

AA > 2+ 47 =24 (—4)

1ELT >KPTBO
> 2 —0
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207 '2

AA > 2452 —2+ (—5)

1ELT >KPTBO
> ? =7

1L TE>Q E>MMBKP TEBK QEB PFOBOBKIB PB@A-5 + 3 5 B OB>IFWB QEFP JB>KP QEB PRJ LC

>KA 5EBK QEB @LRKQBOP TBOB QEE B:NBR@QER) FK >58BK QEB @LRKQBOPGBBBKAFC
@LILOB IFKB QEBJ RM RKABO B>@E LQEBO

| JB>KP QEB PRJLCI| >KA

5B PQ>0Q TFQE KBD>QFSBP

KA QEBK TB >AA MLPFQFSBP

5 B OBJLSB >KV KBRQO>| M>FOP

5B E>SB KBD>QFSBP IBCQ

2EBPRJLCI| >KA FPI I I

,LQF@B QE>Q QEBOB TBOB JLOB KBD>QFSBP QE>K MLPFQFSBP PL QEB OBPRIQ T>P KBD>Q!
*BQP KLT >AA QEB I>PQ @LJ?BK+QFBK
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| JB>KP QEB PRJLC >KAI

5B PQ>0Q TFQE MLPFQFSBP

KA QEBK TB >AA KBD>QFSBP

5 B OBJLSB >KV KBRQO>| M>FOP

5B E>SB MLPFQFSBP IBCQ

2EB PRJLC >KAI FP I

S5EBK TB RPB @LRKQBOP QL JLABI >AAFQFLK LC MLPFQFSB >KA KBD>QFSB FKQBDBOP FQ FP B
>0OB JLOB MLPFQFSB LO JLOB KBD>QFSB @LRKQBOP 1L TB HKLT TEBQEBO QEB PRJ TFIlI 7B MLI

AA > —1+5? 1+ (-5)

Solution
>




(( %1( 8&7HN'7 17)+)56

2EBOB >0OB JLOB MLPFQFSBP PL QEB PRJ FP MLPFQFSB

2EBOB >0OB JLOB KBD>QFSBP PL QEB PRJ FP KBD>QFSB

207 '2

AA > —24 47 2+ (—4)

1ELT >KPTBO
> 2 —2

207 '2

AA > —2452? 24 (—5)

1ELT >KPTBO
> ?2 =3

LT QE>Q TB E>SB >AABA PJ>Il MLPFQFSB >KA KBD>QFSB FKQBDBOP TFQE > JLABI TB @>K S|
LRO JFKAP QL PFIMIFCV MOL?IBJP TFQE >KV KRJ?BOP

5EBK VLR KBBA QL >AA KRJ?BOP3FR@E 5B) VLR OB>IIV AQR>KQ QL E>SB QL @LRKQ LRQ  ?IF
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@LRKQBOP >KA OBA @LRERBREB 3 ABI FK VLRO JFKA @>K VLR SFPR>IFWB TE>Q VLR TLRIA A
QEB MOL?IBJ

F@QROB ?IRB @LRKQBOP TFQE OBA @LRKQBOP IFKBA RM RKABOKB>QE 1FK@B QEBOB TL
KBD>QFSB @LRKQBOP QE>K ?IRB MLPFQFSB @LRKQED®@IFRAE PRI RLOBEDBA
@LRKQBOP TLRIA QEBOB ?B3B@YRPHG6 QEBOB >0B JLOB OBA @LRKQBOP

2EBOBCLOB QEB BRJLGC-53) FP-16
37+ (—53) = —16

*BQP QOV >KLQEBORBRJHBAA-T4 + (—27) D>FK FJ>DFKB OBA @LRKQBOP >KA JLOB OBA
@LRKQBOP PL TBJAE>SB OBA @LRKQBOP 2EFP JBHKP QEB PRJ FP

—74 4 (—=27) = —101
*BQP ILLH >D>FK >Q QEB OBPRIQP LC SRAB(MQEBIAFK>GELKP-KE3, —3

AAFQFLK LC .LPFQFSB >KA ,BD>QFSB 'KQBDBOP

5+3 —5+4 (—3)
8 —8
both positive, sum positive both negative, sum negative
5EBK QEB PFDKP >0OB QEB P>JB QEB @LRKQBOP TLRIA ?B>HRQEBPEIB @LILO
—-5+3 5+ (—3)
-2 2
different signs, more negatives, sum negative different signs, more positives, sum positive

5EBK QEB PFDKP :SEORRQ PLJB LC QEB @LRKQBOP TLRIA J>HB KBRQO>| M>FOP PL PR?Q0>@Q QL PBI
IBCQ

4FPR>IFWB QEB JLABI >P VLR PFIMIFCV QEB BUMOBPPFLKP FK QEB CLIILTFKD BU>JMIBP

1IFIMIFCY 19 + (—47) 2 —14 + (—36)

Solution

> 1FK@B QEB PFDKERBOBKFO B PR?Q®x@Q47. 2EB >KPTBO TFIl ?B KBD>QFSB ?B@>RPB QEBOE
>0B JLOB KBD>QFSBP QE>K MLPFQFSBP
19 + (—47)
Add. — 28
? 1FK@B QEB PFDKP >0OB QEB P>JB TB >AA 2EB >KPTBO TFIl ?B KBD>QFSB ?B@>RPB QEBOB >C
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—14 + (—36)
Add. —50

207 '2

1FIMIFCY —31 + (—19) ? 15 + (—32)

1ELT >KPTBO
>—507—17

IFIMIFCY —42 + (—28) ? 25 + (—61)

1ELT >KPTBO
>—707? —36

2EB QB@EKFNRBP RPBA RM QL KLT BUQBKA QL JLOB @LIJMIF@>QBA MOL?IBJP IFHB QEB LKt
0BJBJ?BO QL CLIILT QEB LOABO LC LMBO>QFLKP

#6 +.}#

IFIMIFCY5 + 3 (=24 7)

Solution
—5+3(—=2+7)
1FIMIFCV FKPFAB QEB M>OBKQEBPBP —5+43(5)
+RIQFMIV —o+ 15
AA IBCQ QL OFDEQ 10
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1IFIMIFCY2 + 5 (—4 + 7)
1ELT >KPTBO

207 '2

1FIMIFCV4 + 2 (=3 + 5)
1ELT >KPTBO

L(:8 ') 4:+-+89
5 B TFIl @LKQFKRB QL RPB @LRKQBOP QL JLABI QEB PR2QEE @REF Id BEEERBMBMOBPBKQ ML
KRJ?BOP >KA QEB OBA @LRKQBOP OBMOBPBKQ KBD>QFSB KRJ?BOP

BOE>MP TEBK VLR TBOB VMRROEEFA — 3” >P5 Q>HB >T3Y 5EBK VLR RPB @LRKQBOP VLR @>K
QEFKH LC PR?QO>@QFLK QEB P>JB T>V

5 B TFII JLABI QEB CLRO PR?QO>@QFLK C>@QP RFHAD QEB KRJ?BOP
5—3 —5—(=3) —5-3 5—(—3)

2L PR?Q0O>@®@ TB OBPQ>QB QEB MOISABHE>TSY

5B PQ>0Q TFQE MLPFQFSBP

5 BiQ>HB >T>Vj MLPFQFSBP

5B E>SB MLPFQFSBP IBCQ

2EB ABBOBK@B LC >KA FP

LT TB TFIl PR?QO>@Q (—3) 5 >Q@E CLO PFJFI>OFQFBP QL QBB3P9 BU>IMIB

2L PR?QO>@Q (—3) TB OBPQ>QB QEFP SBHB >T>\3"
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5 B PQ>0Q TFQE KBD>QFSBP

5 B iQ>HB >T>Vj KBD>QFSBP

5B E>SB KBD>QFSBP IBCQ

2EB ABBOBK@B LC | >KA| FP | I

LQF@B QE>Q QEBPB QTL BU>JMIBP >0B JR@E >IFHB 2EB CFOPQ BU>JMIB TB PR?Q0O>@Q |
>KA BKA RM TFQE MLPFQFSBP

'K QEB PB@LKA BU>JMIB TB PR?QO>@Q KBD>QFSBP COLJ KBD>QFSBP >KA BKA RM TFQE

#>@E BU>JMIB RPBA @LRKQBOP LC LEKA QBEYQ=®IB >T>Vh JLABI LC PR?QO>@QFLK T>P B>|
>MMIV

1R?QO>@0Q— 52 —7 — (—5)

Solution

> 7T—95
2>HB MLPFQFSB COLJ MLPFQFSBP >KA DBQ MLPFQFSBH

2 —7—(-5)
2>HB KBD>QFSBP COLJ KBD>QFSBP >KADBQ KBDyQFSEP

1R?QO>@Q)— 4?2 —6 — (—4)
1ELT >KPTBO
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> 2?2 —2 |

2072

1R?QO>@0— 4?2 —7 — (—4)

1ELT >KPTBO
> 2 =3

5E>Q E>MMBKP TEBK TB E>SB QL PR?QO>@Q LKB MLPFQFSB >KA IB{IB KB QESPRRITED 5
TEFQB >KA OBA @LRKQBOP >P RBIRSFPLIBAABRD > KBRQO>I M>FO ALBP KLQ @E>KDB QEB S>I|
IFHB @E>KDFKD NR>OQBOP QL KF@HBIPfQEB S>IRB FP QEB®BER ?RQ FQ ILLHP AFC

] 2L PR?QO>@O 3 TB OBPQ>QB-F@>MIB >T>V

5 B PQ>0Q TFQE KBDS®KBBR GL Q>HB >T>V MLPFQFSBP ?RQ TB AL KLQ E>SB >KV MLPFQFSE
>T>V

0BJBJ?BO> KBRQO>I M>FO E>P S>IRB WBOL 'C TB >AA QL FQBSAREBBREQAIM>F0OP QL QEB
KBD>QFSBP RKQFI TB DBQ MLPFQFSBP QL Q>HB >T>V
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I I JB>KP | Q>HB >T>V

5 B PQ>0Q TFQE KBD>QFSBP

5 B KLT >AA QEB KBRQO>IP KBBABA QL DBQ | MLPFQFSBP

5 B OBJLSB QEB MLPFQFSBP

5B >OB IBCQ TFQE KBD>QFSBP

2EB ABBOBK@B LC | >KA FP I (I

KA KLT QEB CLROQBE@>PB3) 5B PQ>0Q TFQE MLPBXEBPG. Q>HB >T>V KBD>QFSBP ?RC
QEBOB >OB KL KBD>QFSBP QLLEBBAATKBRQO>I M>FOP RKQFI TB E>SB  KBD>QFSBP QL Q>H
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['1 IJB>KP Q>HB>T>V|

5B PQ>0Q TFQE MLPFQFSBP

5 B KLT >AA QEB KBBABA KBRQO>IP M>FOP

5 B OBJLSB QEB KBD>QFSBP

5B >0BIBCQ TFQE MLPFQFSBP

2EB ABBOBK@B LC >KAI FP [l

1R?QO>@803 — 1?2 3 — (—1)

Solution
>

2>HB MLPFQFSB COLJ QEB LKB >AABAKBRQO>I M>FO

2>HB KBD>QFSB COLJ QEB LKB >AABA KBRQO>| M>FO
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1R?QO>@Q6 —4? 6 — (—4)

1ELT >KPTBO
>—107?

207 '2

1R?QO>@Q7 — 47?2 7 — (—4)

1ELT >KPTBO
>—1172

&>SB VLR KLQF@BA@E>Q@5;: ;2 ?53:10 :A9.1>? /-: .1 0;:1 .E -005:3 @41 ;<<;?B@U>JMIB
—3 — 1FP QEB P>JB-3P+ (—1) >KA3 — (—1) FP QEB P>JB #P1 7LR TFII LCQBK PBB QEFP FAB> QI
PR?QO>@QFLK MDAMEBIBRNAP CLIILTP

1R?QO>@QFLK .OLMBOQV

a—b=a+ (-0b)
1R?QO>@QFKD > KRJ?BO FP QEB P>JB >P >AAFKD FQP LMMLPFQB

*LLH >Q QEBPB QTL BU>JMIBP

6 — 4 gives the same answer as 6 + (—4)

-C @LROPB TEBK VLR E>SB > PR?Q0O>@QFLK MOL?IBJ QE>Q E>P LKIY MI4PRQRSERFRI2ABOP IF
QEB PR?Q0>@®BFIRB>AV HKBT ELT QL PR2QOREDQ>DL RD;C5:3 QE)— 4 DFSBP QEB

P>JB >KPTBOG>P (—4) EBIMP TEBK VLR >0OB PR?Q0>@QFKD KBD>QFSB KRJ?BOP +>HB PROB
RKABOPQ>KASEL T >KAS + (—4) DFSB QEB P>JB OBPRIQP
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1IFIMIFCY 13 — 8 >KAL3 + (—8) ? —17 — 9>KA-17 + (—9)

Solution
> 13—-8 |13+ (-8)
1R?Q0O>@Q 5 5
2 —17-9| 17+ (-9)
1R?Q0O>@Q_929 —926

1IFIMIFCY 21 — 13 >KMR21 + (—13) ? —11 — 7>KA-11 + (—7)

1ELT >KPTBO
> 8?2 —18

207 '2

1IFIMIFCY 15 — T>KALS + (—=7) ? —14 — 8 >KA-14 + (—8)

1ELT >KPTBO
> 872 —22

*LLH >Q TE>Q E>MMBKP TEBK TB PR?QO>@Q > KBD>QFSB

0d]

— (—5) gives the same answer as 8 + 5
(A.@>-/@5:3-:13-@5B1 :A9.1> 5? 8571 -005:3 - <;?5@5B1

7LR TFIl LCQBK PBB QEFP TOFQQBK=F; + b
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"LBP QE>Q TLOH CLO LQEBO KRJ?BPRLIDEBBOIILTFKD BU>JMIB >KA PBB

#6 +.}#
1IFIMIFCY 9 — (—15) >KM) + 152 —7 — (—4) >KA-7 + 4
Solution
>
9 — (—15) 9415
Subtract. 24 24
)
—7—(-4) —74+14
Subtract. -3 -3
> 9—(—15) [9+15
1R?Q0>@Q 94 24
? —7—(—4)|-7+4
1R?QO>@Q -3 -3

207 '2

1IFIMIFCY 6 — (—13)>KA6 + 13?2 —5 — (—1)>KA-5+ 1

1ELT >KPTBO
>197? —4

2072

1IFIMIFCY 4 — (—19) >KAML + 19?2 —4 — (—=7)>KA-4 + 7

1ELT >KPTBO
> ?

*BQP ILLH >D>FK >Q QEB OBPRIQP LC PRTCEDHEBQREDIQERAJEKP-KES, —3
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1R?QO>@QFLK LC 'KQBDBOP

5—3 —5—(-3)
2 —2
5 positives take away 3 positives 5 negatives take away 3 negatives
2 positives 2 negatives
5EBK QEBOB TLRIA ?B BKLRDE @LRKQBOP LC QEB @ PRRQMI@RHB >T>V
-5—-3 5—(-3)
-8 8
5 negatives, want to take away 3 positives 5 positives, want to take away 3 negatives
need neutral pairs need neutral pairs
5EBK QEBOB TLRIA ?B KLQ BKLRDE @LRKQBOP LC QEB @AARO QL Q>HB >T>V

S5E>Q E>MMBKP TEBK QEBOB >0B JLOB QE>K QBEGB® KRHEDGDPPR LHABO LC LMBO>QFLKP >P RPI

#6 +.%#

1FIMIFCY — (=4 —3) — 9
Solution

7—(—4-3)—9

1FIMIFCV FKPFAB QEB M>OBKJEBPEP-GHOP®

1R?Q0>@Q IBCQ QL OFDEQ |14 — 9

1R?Q0O>@Q 5

1FIMIFCY — (=3 — 1) — 9
1ELT >KPTBO




(( %1( 8&7HN'7 17)+)56

207 '2

1FIMIFCY2 — (-9 — 6) — 14
1ELT >KPTBO

@@BPP QEBPB LKIFKB OBPLRO@BP CLO >AAFQFLK> FKPQOR@QFLK >KA MO>@QF@B TFQI
7LR TFIl KBBA QL BK>?IB (>S> FK VLRO TB? ?0OLTPBO QL RPB QEB >MMIF@>QFLKP

] AAILILOBA EFM
] 1R?Q0O>@Q LILOBA IEFM

+? 54)+6:9
] Addition of Positive and Negative Integers

5+3 — 5+ (—3)

8 -8
both positive, both negative,
sum positive sum negative
—5+3 5+ (-3)

-2 2
different signs, different signs,
more negatives more positives
sum negative sum positive

] Property of Absolute Value |n| > 0 CLO >l KRJ?BOP ?PLIRQB S>IRBP >0OB >IT>VP DOB>Q
LO BNR>I QL WBOL

] Subtraction of Integers


https://openstax.org/l/11AddColorChip
https://openstax.org/l/11SubtrColorChp
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5—3 —5—(-3)

2 -2
5 positives 5 negatives
take away 3 positives take away 3 negatives
2 positives 2 negatives
—5—3 5—(-3)

-8 8
5 negatives, want to 5 positives, want to
subtract 3 positives subtract 3 negatives
need neutral pairs need neutral pairs

] Subtraction Property: 1R?Q0O>@QFKD > KRJ?BO FP QEB P>JB >P >AAFKD FQP LMMLPFQB

2599'87?

absolute value
2EB >?PLIRQB S>IRB LC > KRJ?BO FP FQP AFPQ>K@B COLJ LK QEB KRJ?BO IFKB 2EBr»?RLIRQB S>IF
FP TOFQQBK >P
integers
2EB TELIB KRJ?BOP >KA QEBFO LMMLPFQBP >0OB @>II1BA QEB FKQBDBOP dI | | d
opposite
2EB LMMLPFQB LC > KRJ?BO FP QEB KRJ?BO QE>Q FP QEB P>JB AFPQ>K@B COLJ WBOL LK QEB KRJ
LMMLPFQB PFAB L-€aIBEKP QEB LMMLPFQB LC QREBRIZBOQFK-P OB>A gQEB LMMLPFQB LC

8'):/)+ 'L +9 +8,+):

#9+ +-/< +9'4* 6659/:+95, 4:+-+89

'K QEB CLIILTFKD BUBO@FPBP LOABO B>@E LC QEB CLIILTFKD M>FOP LC KRJ?BOP RPFKD LO

> Q==+ > —7T===

2 —3== ?2 —10===5
@—8:::—2 @2:::—6

A 1===-10 A 8==9

'K QEB CLIILTFKD BUBO@FPBP CFKA QEB LMMLPFQB LC B>@E KRJ?BO
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? —6 2 —4
'K QEB CLIILTFKD BUBO@FPBP PFIMIFCV
—(—4) —(—8)
—(—15) —(—11)
'K QEB CLIILTFKD BUBO@FPBP BS>IR>QB
— ¢ TEBK —d TEBK
>c=12 >d=21
2 c=—12 ?2d=-21
1/362/,?7 >68+99/549 =/.. (952;;+% '2;+
'K QEB CLIILTFKD BUBO@FPBP PFJMIFCV
> | — 32| > (0]
? 10| ? | — 40
@|16] @|22]

'K QEB CLIILTFKD BUBO@FPBP CHIEGKO BX@E LC QEB CLIILTFKD M>FOP LC KRJ?BOP

S — ‘:::1_6’ > |—5|:::_ _5’
? _| — 3|:::—3 ?2 O=—=_| _ 9|
'K QEB CLIILTFKD BUBO@FPBP PFJIJMIFCV
—(=5) and — | — 5| | 9land — (—9)
8| — 17| 5| =5
15— 7| — |14 — 6| 17 — 8| — [13 — 4|
15— [2(8—3) | 18— 13(3—5)]

'K QEB CLIILTFKD BUBO@FPBP BS>IR>QB
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> —|p| when p = 19 > —|a| when a = 60
? —|q| when ¢ = —33 ? —|b| whenb = —12
* 4:+-+89

'K QEB CLIILTFKD BUBO@FPBP PFIMIFCV B>@E BUMOBPPFLK

—21 + (—59) —35 4 (—47)
48 + (—16) 34+ (—19)
—14+ (—12) +4 —17+(—18)+6
135 + (—110) + 83 —38 4+ 27+ (—8) + 126
19 +2(-3+38) 24+ 3(-5+9)
(8 ") 4:+-+89

'K QEB CLIILTFKD BUBO@FPBP PFIMIFCV

8§ —2 —6 — (—4)
—5_4 —7—2
8—(—4) 7—(=3)
> 44 — 28 > 35— 16
? 44 + (—28) 2 35+ (—16)
> 27 — (—18) > 46 — (—37)
? 27+ 18 ? 46 + 37

'K QEB CLIILTFKD BUBO@FPBP PFIMIFCV B>@E BUMOBPPFLK



(
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15 — (—12) 14 — (—11)

48 — 87 45 — 69

—17 — 42 —19— 46

~103 — (—52) ~105 — (—68)

—45 — (54) —58 — (—67)
8—3—7 9-6-5
5—4+47 —3—-8+4

—14 — (=27) +9 644 (—17) — 9
2-7-(3-8)(2) (1-8)-(2-9)
—(6-8)—(2-4) —(4-5)—(7-8)
25 — [10 — (3 — 12)] 32 — [5 — (15 — 20)]
6.3—4.3—7.2 5.7 —82—4.9

52 _ g2 62 _ 72
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Elevation 2EB EFDEBPQ BIBS>QFLK FK ,LOQE
+LRKQ +@)FKIBMPH> >Q  CBBQ >?LSB PB>
IBSBI 2EB ILTBPQ BIBS>QFLK FRIBASIEALOKF>
>Q CBBQ ?BILT PB> IBSBI

3PB FKQBDBOP QL TOFQB QEB BIBS>QFLK LC

> +LRKQ +@)FKIBV
? "B>QE #lIBV

Extreme temperatues2EB EFDEBPQ OB@LOAL
QBOMBOHPROB LK #>GRYBIPPRP OB@LOABA H
1>E>0>"BPBOQ FK  2EB ILTBPQ OB@LOABA
T>P90\ ?BILT O\ IBIPFRP OB@LOABA FK KQ>0@

3PB FKQBDBOP QL TOFQB QEB
> EFDEBPQ OB@LOABA QBJMBO>QROB
? ILTBPQ OB@LOABA QBJMBO>QROB

BA
K QEB

QBIMBO>C
DQF@> FK

Provincial budgets$LO QEB MOLSFK@B LC
/RB?B@ BPQFJ>QBA FQ TLRIA E>SB > ?RADBQ
JFIIFLK 2E>Q P>JB VEBDQ> BPQFJ>QBA FQ TL
>?RADBQ ABCF@FQLC JFIIFLK

3PB FKQBDBOP QL TOFQB QEB ?RADBQ LC

> |RB?B@
? 1?BOQ>

University enrolment2EB KRJ?BO LC FKQBOK3
PQRABKQP BKOLIIBA FK I>K>AF>K MLPQPB@LH
E>P ?BBK LK QEB OFPB CLO QTL AB@>ABP TF(
FK@OB>PFKD >Q > EFDEBO O>QB QE>K QE>Q
PQRABKQP #KOLIJBKQP LC FKQBOK>QFLK>| P
PROMIBRILC QL  +B>KTEFIB QEBOB T>P >
RPAADISB AB@IFKB FK QEB KRJ?BO LC I>K>AF>K
CLO QEB P>JB CFP@>I VB>OP

3PB FKQBDBOP QL TOFQB QEB @E>KDB

> FK 'KQBOK>QFLK>| 1QRABKQ BKOLIJBKQ CO
$>l

? FK I>K>AF>K PQRABKQ BKOLIJBKQ COLJ $>I

LQFLK>I
(A>OV FKP
DE QEBFO
| C I>K>AF>
QRABKQP

PQRABKQ!

| J$>I Ql

QL $>l1

Stock Market 2EB TBBH LC 1BMQBJ?BO Tl
LKB LC QEB JLPQ SLI>QFIB TBBHP BSBO CLO Q
J>OHBQ 2EB @ILPFKD KRJ?BOP LC QEB "LT (LK
'KARPQOFSBO>DB B>@E A>V TBOB

—504
+142
b\v-449
+410
+369

+LKA>V

2RBPA>V

5 BAKBPA

2EROPA>\

$OFA>V

5E>Q T>P QEB LSBO>Il @E>KDB CLO GEBJ@BBH

>P tMet "ROFKD QEB TBBH LC (RKB
D KRJ?BOP LC QEB "LT (LKBP 'KAR
SBO>DB B>@E A>V TBOB

—201
—16
=23
+172
—34

+LKA>V

2RBPA>V

5 BAKBPA

2EROPA>\

$OFA>V

E
%ILPFQFSB LO KBD>QFSB

>Q T>P QEB LSBO>Il @E>KDB CLO QEBQBBH

bQOF>|

MLPFQFSB LO KBD>QFSB
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%8/:/4- > +8)/9+9

9%FSB >K BU>JMIB LC > KBD>QFSB KRJ?BO COLIBERO-0B QEB QEOBB RPBF | CREBE. FK >IDBPO>

IFCB BUMBOFBK@B #UMI>FK ELT QEBSR&FC
#UMI>FK TEV QEB PRI-BGKA FP KBD>QFSB PR@6FSB >K BU>JMIB COLJ VLRO IFCB BUMBOFBK@B LC
QEB PRJLC >KAFP MLPFQFSB >AAFKD QTL KBD>QFSB KRJ?BOP
49=+89
> ?2 @ A > —272
> —127? > ? @
> 2 = 9, —H
> —192 —33
—80 —22
—9 > 7
> 7 -39
—59 —51
-2 —2
—15
—5.2 —11 > 2 —282
> JFIIFLK? —$7.5 o
JENELK 32 KPTBOP J>V S>0V
KPTBOP J>V S>0V
::8/(;:/549

2EFP @E>MQBO E>P ?BBK >A>MQBA COLJ g AA >KA 1R10: @ K@EBDBOMBIKKQ>U ?V
*VKK +>0B@BH >KA +>0V KKB KQELKV 1JFQE TEF@EFP f#@BO@B A>MQBA ?V 'W>?BI>
+>WRQ@BB QEB 'LMVOFDEQ M>DB CLO JLOB FKCLOJ>QFLK



https://openstax.org/details/books/elementary-algebra
https://creativecommons.org/licenses/by/4.0/
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*B>0OKFKD -?GB@QFSBP

V QEB BKA LC QEFP PB@QFLK VLR TFII ?B >?IB QL

+RIQFMIV FKQBDBOP

"FSFAB FKQBDBOP

1FIMIFCV BUMOBPPFLKP TFQE FKQBDBOP

#S>IR>QB S>0OF>7IB BUMOBPPFLKP TFQE FKQBDBOP
20>KPI>QB #KDIFPE MEO>PBP QL >IDB?0O>F@ BUMOBPPFLKP

]
]
]
]
]
] 3PB FKQBDBOP FK >MMIF@>QFLKP

:2:/627 4:+-+89

1FK@B JRIQFMIF@>QFLK FP J>QEBJ>QF@>| PELOQE>KA CLO OBMB>QBA >AAFQFLK LRO JLA
PELTIRIQFMIF@*QFKKRBDBBEP ILLH >Q QEFP @LK@OBQB JLABI QL PBB TE>Q M>®TBOKP TB |
RPB QEB P>JB BU>JMIBP QE>Q TB RPBA CLO >AAFQFLK >KA PR?QO>@QFLK &BOB TB TFIl RP
RP AFP@LSBO QEB M>QQBOK

5 B OBJBJ?BO QEQIB>KP >AA . QFJBP &BOB TB >0OB RPFKD QEB JLABI GRPQ QL EBIM RP AF
M>QQBOK

2EB KBUQ QTL BU>JMIBP >OB JLOB FKQBOBPQFKD

5E>Q ALBP FQ JB>K QL JRIQFMB/ 'QUB>KP PR?QO>@Q QFJBP *LLHFKD >Q PR?QO>@QFLK
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>T>Vh FQ JB>KP QL Q>HB >T>V  QFJBP RQ QEBOB FP KLQERKIBHIQOSBWT>MNAFKD KBRQO>|
M>FOP LK QEB TLOHPM>@B 2EBK TB Q>HB >T>V QEOBB QFJBP

'K PRJJ>0OV
53 = 15 ~5(3) = -15
5(-3) = —15 (=5)(=3) = 15

LQF@B QE>Q CLO JRIQFMIF@>QFLK LC QTL PFDKBA KRJ?BOP TEBK QEB

] PFDKP >ORQEBQEB MOLAR@O®BB1
] PFDKP 96821:QEB MOLAR@QGSB1

5 Bjll MRQ QEFP >Il QLDBQEBO FK QEB @E>0Q ?BILT
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+RIQFMIF@>QFLK LC 1FDKBA ,RJ?BOP

$LO JRIQFMIF@>QFLK LC QTL PFDKBA KRJ?BOP

Same signs Product Example

2TL MLPFQFSBP LPFQFSB 74 =28

2TL KBD>QFSBP LPFQFSB —-8(—6) = 48

Differ ent signs Product Example

LPFQFSB :@ALQ KBD>QFSB ,BD>QFSB 7(-9) = —63
,BD>QFSB :@ALQ MLPFQFSB ,BD>QFSB -5-10 = =50

#6 +.%#

+RIQFMIV =932 —2(—5) @4 (—8)A 7-6

Solution
> -9-3
+RIQFMKLQFKD QE>Q QEB PFOE®BKB REQEB MOLAR@Q FP KBD>QFFSB
5 —2(-5)
+RIQFMKLQFKD QE>Q QEB PFDKP >OB QEB P>JB PL QEB MOLAR@Q [P MLPFQFSB
@ 4(-8)
+RIQFMIVFQE AIBOBKQ PFDKP -39
A 7-6
+RIQFMIVFQE P>JB PFDKP 49

2072

+RIQFMIV >6 - 82 —4 (—=7) @9 (—7)A 5-12

1ELT >KPTBO
>—48?2 @ —63A
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207 '2

+RIQFMIV =8 - 72 —6(—9) @7 (—4)A 3-13

1ELT >KPTBO
>—96? @ —28A

5EBK TB JRIQFMIV > KRJ?BO ?V  QEB OBPRIQ FP QEBEQEKRMBIP TEBK TB JRIQFMIV >
KRJ?BO ?¥1 *BQP JRIQFMIV > MLPFQFSB KRJ?BO >KA QEBK > KBD>QESPERIFBM 7N DBQ

—-1-4 —1(-3)
Multiply. —4 3
—4is the opposite of 4. 3 is the opposite of — 3.

#>@E QFJB TB JRIQFMIV > KRI?BORDBQ FQP LMMLPFQB

+RIQFMIF@>QFLK ?V

—la =-a
+RIQFMIVFKD > KRJ?BQ P¥SBP FQP LMMLPFQB

+RIQFMIV >1 - 72 —1(—11)

Solution

-1-7

>

+RIQFMIKLQFKD QE>Q QEB PFOROBKB REQEB MOLAR@Q FP K.BD>QFS§7 .

—T7is the opposite of 7.

. —1(=11)

+RIQFMILQFKD QE>Q QEB PFDKP >OB QEB P>JB PL QEB MOLAR@Q FP I\/iIL]PFQFSB
11 is the opposite of — 11.
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+RIQFMIV >1-92 —1.(—17)

1ELT >KPTBO
>—92

2072

+RIQFMIV >1-82 —1 . (—16)

1ELT >KPTBO
>—872

I<I*+ 4:+-+89

5E>Q >?LREFSFPFIHSFPFLK FP QEB FKSBOPB LMBO>QFLK LC JRIQFMIE @ S8EL+REB

5.3 =15 'K TLOAP QEFP BUMOBPPFLK P>VP QE>Q @>K ?B AFSFABA FKQL QEOBB DOLRMP
>AAFKD CFSB QEOBB QFJBP DFSBP  *LLH >Q PLJB BU>JMIBP LC JRIQFMIVFKD FKQBDBOP Q
AFSFAFKD FKQBDBOP

5-3 = 15s015+3 = 5 —5(3) = —15s0 —15+3 = —5
(=5)(—=3) = 158015+ (-3) = =5 5(-3) = —15s0 —15+(-3) = 5

"FSFPFLK CLIILTP QEB P>JB ORIBP >P JRIQFMIF@>QFLK
$LO AFSFPFLK LC QTL PFDKBA KRJ?BOP TEBK QEB

] PFDKP >OBRQEBQEB NRLQFBKG@BB1
] PFDKP $5221X0QEB NRLQFBKRFFB1

KA OBJBJ?BO QE>Q TB @>K >IT>VP @EB@H QEB >KPTBO LC > AFSFPFLK MOL?IBJ ?V JRIQFM

+RIQFMIF@>QFLK >KA "FSFPFLK LC 1FDKBA ,RJ?BOP

$LO JRIQFMIF@>QFLK >KA AFSFPFLK LC QTL PFDKBA KRJ?BOP

] 'C QEB PFDKP >OB QEB P>JB QEB OBPRIQ FP MLPFQFSB
] 'C QEB PFDKP SBB®BRQ QEB OBPRIQ FP KBD>QFSB
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Same signs Result
2TL MLPFQFSBP .LPFQFSB
2TL KBD>QFSBP .LPFQFSB

'C QEB PFDKP >0B QEB P>JB QEB OBPRIQ FP MLPFQFSB

Differ ent signs Result
.LPFQFSB >KA KBD>QFSB ,BD>QFSB
,BD>QFSB >KA MLPFQFSB ,BD>QFSB

'C QEB PFDKP €B®BRQ QEB OBPRIQ FP KBD>QFSB

"FSFAB >-27 =32 —100 + (—4)

Solution

—27+3
> 5
"FSFAB 5QE GBOBKQ PFDKP QEB NRLQFBKQ FP KBD>Q§SB

? —100 = (—4)
"FSFAB EQE PFDKP QE>Q >0OB QEB P>JB QEB NRL QFBKQﬁ MLPFQFSB

"FSFAB >42 +67? —117 + (=3)

1ELT >KPTBO
>—T72
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"FSFAB >63 + 7?2 —115 + (—5)

1ELT >KPTBO
>—92

1/362/,? >68+99/549 =/:. 4:+-+89

SE>Q E>MMBKP TEBK QEBOB >0B JLOB QE>K QTL KRJ?BOP FK >K BUMOBPPFLK 2EB LOABO L
>MMIFBP TEBK KBD>QFSBP >0B FK@IRABA 0BJBJ?BO +V "B>0O RKQ 1>IIV

*BQP QOV PLIB BU>JMIBjR BFIMIFCV BUMOBPPFLKP QE>Q RPB >l CLRO LMBO>QFLKP TFQE Ft
PR?QO>@QFLK JRIQFMIF@>QFLK >KA AFSFPFLK 0BJBJ?BO QL CLIILT QEB LOABO LC LMBO>

#6 +.4#

1FIMIFCY (—2) + 4 (=7) — 6
Solution

7(=2)4+4(-7)—6
+RIQFMIV CFoPtd + (—28) — 6
AA —42 -6

1R?Q0>@Q | —48

2072

1IFIMIFCY (—3) +5(—7) — 4

1ELT >KPTBO
—63
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